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Which one of the following is not a Harappan site?
1) Chanhudaro 2) Kot Diji 3) Sohgaura 4) Desalpur

Tefiedeh! DUt UTE TeR URUMET Hifofl SiET ST SiiSeiedl STee—iae ol Harfed & arft
SATGIVT 3T SRR Ryl oumetaTe Ui 3R ?

9) eeTfeRT Q) BIAETH 3) IS %) IR

Which one of the following ancient towns is well-known for its elaborate system of water
harvesting and management by building a series of dams and channelizing water into connected

reservoirs?
1) Dholavira 2) Kalibangan 3) Rakhigarhi 4) Ropar
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Regarding the Indus Valley Civilization, which of the statements given above is/are correct ?

a) It was predominantly a secular civilization and the religious element, though present, did not
dominate the scene.

b) During this period, cotton was used for manufacturing textiles in India.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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Which of the following characterizes/characterize the people of Indus Civilization?

a) They possessed great palaces and temples.

b) They worshipped both male and female deities.

c¢) They employed horse-drawn chariots in warfare.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢)

3) (b) only 4) None of the statements given above is correct
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With reference to the difference between the culture of Rigvedic Aryans and Indus Valley people,

which of the following statements is/are correct?

a) Rigvedic Aryans used the coat of mail and helmet in warfare whereas the people of Indus
Valley Civilization did not leave any evidence of using them.

b) Rigvedic Aryans knew gold, silver and copper whereas Indus Valley people knew only copper
and iron.

¢) Rigvedic Aryans had domesticated the horse whereas there is no evidence of Indus Valley
people having been aware of this animal.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)
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Which one of the following pairs does not form part of the six systems of Indian Philosophy?
1) Mimamsa and Vedanta 2) Nyaya and Vaisheshika

3) Lokayata and Kapalika 4) Sankhya and Yoga
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The religion of early Vedic Aryans was primarily of..............

1) Bhakti 2) image worship and Yajnas

3) worship of nature and Yajnas 4) worship of nature and Bhakti
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With reference to the history of philosophical thought in India, which of the following statements

are correct regarding Sankhya school ?

a) Sankhya does not accept the theory of rebirth or transmigration of soul.

b) Sankhya holds that it is the self-knowledge that leads to liberation and not any exterior influence
or agent.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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The “dharma’ and “rita” depict a central idea of ancient Vedic civilization of India. Which of the

following statements is/are correct with respect to it?

a) Dharma was a conception of obligations and of the discharge of one’s duties to oneself and to
others.

b) Rita was the fundamental moral law governing the functioning of the universe and all it contained.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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With reference to the history of ancient India, which of the following statements is/are correct?

a) Mitakshara was the civil law for upper castes and Dayabhaga was the civil law for lower castes.

b) In the Mitakshara system, the sons can claim right to the property during the lifetime of the
father, whereas in the Dayabhaga system, it is only after death of the father that the sons can
claim right to the property.

¢) The Mitakshara system deals with the matters related to the property held by male members
only of a family, whereas the Dayabhaga system deals with the matters related to the property
held by both male and female members of a family.

Answer Options :

1) (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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Chaitra 1 of the national calender based on the Saka Era corresponds to which one of the following
dates of the Gregorian calendar in a normal year of 365 days?

1) 22nd March ( or 21st March) 2) 15th May (or 16th May)

3) 31st March (or 30 th March) 4) 21st April (or 20th April)
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Which of the pairs given below is/are correctly matched, in the context of the history of India?
Term Description

a) Eripatti : Land, revenue from which was set apart for the maintenance of the village tank
b) Taniyurs : Villages donated to a single Brahmin or a group of Brahmins

c) Ghatikas : Colleges generally attached to the temples

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
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With reference to the history of India, the terms “kulyavapa” and “dronavapa’ denote
1) measurement of land 2) coins of different monetary value
3) classification of urban land 4) religious rituals
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4)

4)

5)

&)

6)

HRATT AR SERITT QAT WeTiaTdeh! PIuret STt /STe aRIaR SJesell 31/ 3Med ?
37) gRINSIH — IR FROTRT IO JSHUIRT

) ST — 39 oIl 3Relel IR

) IURTD - dlg YA SRR

gt SR :

9) Wheh 37 3MUT § Q) 31 37T & Hh 3) § 371 & Th ¥) o, § 3 &
Which of the pairs given below is/are correctly matched with reference to cultural history of
India ?

a) Parivrajaka — Renunciant and Wanderer

b) Shramana — Prest with a high status

c¢) Upasaka — Lay follower of buddhism

Answer Options :

I)aandb only 2) aand c only 3)bandconly 4)a,bandc

WRATAT ARpfId gfcrgrareat deufd, ‘wRd’ a1 Aerd Wiefleidh T qui HIvr 31 ?
q) IADIRFECH () Aefia fotfgetel Fara S erfemel 7.

Q) TESTHIAT M ST dgraT JMfUPR PR gl

3) URYuiT SITear UTeiges ST ArTiehe el

¥) ARG ST YRATdIS SAfehanell IRt g,

With reference to the cultural history of India, which one of the following is the correct description
of the term ‘paramitas’?

1) The earliest Dharmashastra texts written in aphoristic (sutra) style.

2) Philosophical schools that did not accept the authority of Vedas.

3) Perfections whose attainment led to the Bodhisattva path

4) Powerful merchant guilds of early medieval south India.

eI SrfaRd SAfIeRT HEar {HehT SSIaun=T W= YRaTdie g ($0f) =7 i, Wiefierden!

DIV I sRISR 3R /31 ?

37) AP HY AT P UTRRUNES AIGUITG BT STITOT ST eATeR JXed UTRIh R SfIBR e,

) A9, MR H, 7D ST fhdt fiee Mfead dear g

P) AT W SRR TR JIBR 8.

i SR :

q) (1) wh R) (87) ofdr (3) wh 3) (31), (3) o7 () 8) (F) N (F) Feh

With reference to the guilds (Shreni) of ancient India that played a very important role in the

country’s economy, which of the following statements is /are correct?

a) Every guild was registered with the central authority of the State and the king was the chief
administrative authority on them.

b) The wages, rules of work, standards and prices were fixed by the guild.

¢) The guild had judicial powers over its own members.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only
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)

1)

Q)

2)

3)

3)

8)

4)

3) dig &

GTeTcTieh! IO 5T JGreaT SitaTeft Fafer g ?

37) et
gl IR :
9) (31) 3MfOT (§) Wb ) (F) 201 (P)

g) MYUR

Which of the following Kingdoms were associated with the life of the Buddha?

a) Avanti b) Gandhara
Answer Options :
1) (a)and (b) only 2) (b) and (¢)

P) P 3) gy

3) (@) 3o () 8) (31), (@), (d), (3)
¢) Kosala d) Magadha

3) (¢) and (d) 4) (a), (b), (¢), (d)

R s SR, TR ST e Sani, Wit P S AR /AR ?

TRIg JavI™
37) e 9o 3T A#feR gR™R
¥) TEIdT oG HieR, ATl
P) 3erdl HieR IRIR
gl IR :
q) (31) 3Mfor (9) ek R) (3) T ()

I

Rt egeft
SRR el
EEIIG

3) (@) 3T () 8) (31), () 3y ()

With reference of Buddhist history, tradition and culture in India, which of the pairs given below

is/are correctly matched?
Famous shrine
a) Tabo monastery and temple complex
b) Lhotsava Lhakhang temple, Nako
c¢) Alchi temple complex
Answer Options :

1) (a)and (b) only 2) (a) and (¢)

Location
Spiti Valley
Zanskar Valley
Ladakh

3)(b) and (c) 4) (a), (b) and (¢)

GIeHcTUeh! DU 5T JGreAT SitaTeft e g ?

37) et
g IR :

9) TMYUR

D) DA g) WY

9) (3). (3) M (&) R) () MM (F) Bh  3) (31), () 37O (F) ) (F) 37N () Peh
Which of the following kingdoms were associated with the life of Buddha?

a) Avanti b) Gandhara
Answer Options :
1) (a), (b) and (c¢) 2) (b) and (c) only

¢) Kosala d) Magadha

3) (a), (c) and (d) 4) (c) and (d) only

A gt I [ g dofie Faid g ot R REmidT wh 3.

q) 3RTar ?) gt

) TelRT

3) 9

The painting of Bodhisattva Padmapani is one of the most famous and oft- illustrated paintings at

1) Ajanta 2) Badami

3)Bagh 4) Ellora
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4)

5)

&)

6)

7)

<)

8)

IR Sfergrarear eafd, et BT Jrdt g5 Mg, S STITel JraauaRATe! 3 AR 31 ?

q) SFEAIfpILaR R) AlheR 3) W g) el

With reference to Indian history, who among the following is a future Buddha, yet to come to
save the world?

1) Avalokiteshvara 2) Lokesvara 3) Maitreya 4) Padmapani

Tt P /<t TerRe dig amtar /< afdrsg /afisd emea ?

37) g&Td IRl

¥) SfRIaTAT AR ITeror

) T gorm Sor faeft

Tt S :

1) (F) FhH ?) (3) ST () 3) (an) T () 8) (31), (3) 3T ()
Which of the following is/are the feature/ features of Mahayana Buddhism?

a) Deification of the Buddha

b) Treading the path of Bodhisattvas

c¢) Image worship and rituals

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

WRATAT UTfiies sfogrirean deuld, Wiclieldd! Pivr fer /A sRIsR 3e/3Med ?

37) TIfRaIfeT g 7graM dig uvfa 3.

¥) SPRIRAleT G & Stg YHidicl AR YT Ueh QTRaT 8.

%) TR §GTd TR0l hed™ HERIH dig il e e,

gl IR :

9) Wheh 37 3MIUT § ) § 37U & Heh 3) & Wh g) o, § 2 &

With reference to the religious history of India, which of the statements given below is/are

correct?

a) Sthaviravadins belong to Mahayana Buddhism.

b) Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism.

c¢) The deification of Buddha by Mahasanghikas fostered the Mahayana Buddhism.
Answer Options :

I)aand b only 2) b and c only 3) c only 4)a,bandc

Wlefledh! P dig gMidiel fafor oo I8 9ol &= ?

q) SeOreT SaTel TE ol R) FaqsaT Hqof e

3) g amfor sl s ¥) TFd 3MMbeIciihed! AR 3TaRRlT
Which one of the following describes best the concept of Nirvana in Buddhism?

1) The extinction of the flame of desire 2) The complete annihilation of self

3) A state of bliss and rest 4) Amental stage beyond all comprehension
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R)

9)

90)

10)

99)

1)

TG ggrdt Ui wefieneft grarea grawra Seifdel S Sare ' qieRgel 961 Furdnd. o ......... T Uciep

3.
) EM YT ARIER A&l SAUIRIIS! 30T ARTEA AT LI 3TSUe] AMUUITIRIT JRGUIRATS!

gletTdel
Q) ARTET MEHT 1 AT §g Yedier Mmuett gedr ST ufdsdr urguamds! Sietaor
3) SEM 3T I fSelel TROT &I o Fa JRATIRIT Scu=l glaid AT act geafiar fargesdrd afr

S g Sfia &UHTR 32

8) AT ASHIG (9) ST () Aegl oM sReR 3mmed

Lord Buddha’s image is sometimes shown with the hand gesture called ‘Bhumisparsha Mudra’. It

symbolizes...............

1) Buddha’s calling of the Earth to watch over Mara and to prevent Mara from disturbing his
meditation

2) Buddha’s calling of the Earth to witness his purity and chastity despite the tempta-tions of
Mara

3) Buddha’s reminder to his followers that they all arise from the Earth and finally dissolve into
the Earth, and thus this life is transitory

4) Both the statements (1) and (2) are correct in this context

T dig L AT I FEUII, TR SR g TR, SEiHed BRI B 3T 2
q) fIER ¢ TSI &R, TR I g fHefd fFaraerm amg

Q) T g TIRYM Mg, R IR g e Famaerm g

3) I g [T AT CIblell SFelell FY 37Te, R fIgR & A 1efla gidl 3.
¥) QML PIUTEl Hifd FRb T8l

Some Buddhist rock-cut caves are called Chaityas, while the others are called Viharas. What is
the difference between the two?

1) Vihara is a place of worship, while Chaitya is the dwelling place of the monks
2) Chaitya is a place of worship, while Vihara is the dwelling place of the monks
3) Chaitya is the stupa at the far end of the cave, while Vihara is the hall axial to it.
4) There 1s no material difference between the two

qRarT UTfifer SRIERITeaT Heria Wielieiid! HIvR U /3 aRIeR 3 /3ed ?

37) ftRIE & FheuHT dig UMl BN UGS hoxl 31Te.

q) It ST AR U 16, 3.

®) NI T FagefieT ToTHT T qMiaR e PRUIRITS Wad:d qief UTH R faeig axard.
gt SR :

q) (1) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()
Which of the following statement is/are correct with reference to the religious history of India ?
a) The concept of Bodhisattva is central to Hinayana sect of Buddhism.

b) Bodhisattva is a compassionate one on his way to enlightenment.

c) Bodhisattva delays achieving his own salvation to help all sentient beings on their path to it.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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)

1)

?)

2)

3)

3)

8)

¥) S o
S TSI 3 HF t Shrre AfEt snfor Seyrer L SR Pell S

9) AERE BRI Q) Affed AT 3) dfeges faear ) dfegep ATeHT
The Jain philosophy holds that the world is created and maintained by
1) Universal Law 2) Universal Truth 3) Universal Faith 4) Universal Soul

aTee PR BYT/ S RighTen o o /amA 2

31) THTT 19T PHRUATT Faic YepT AR TgUST JuS@l o,

) ISP aR], 3G AGH BUNCTE! AT IR,

) PH g I JHAM 3Tg AT AT 3T A fgo.

Tt S :

q) (31) 3Mfor (3) Hh ) (1) AT () 3) (@) nfor () 8) (31), (3) 3nfor ()
Which of the following statements is/are applicable to Jain doctrine?

a) The surest way of annihilating Karma is to practice penance.

b) Every object, even the smallest particle has a soul.

¢) Karma is the bane of the soul and must be ended.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

TRaTeT UTfifes SRR Heutd Wieliethl BIor e sRIsR 3R /3T ?
31) Fiifcrepr STfor A g o9 ¢M 9 8.

9) Fawiiariod I 3 7l B Dl Heid ged guid: &firh TR < 3feth FRUTd BIaF R
3Tee.
Tt SR :
1) (31) Fh R) (@) weh 3) (81) 3T (%) Q= ) () foberr (3) et TR

Which of the following statement is/are correct with reference to the religious history of India ?

a) Sautrantika and Sammitiya were the sects of Jainism.

b) Sarvastivadin held that the constituents of phenomena were not wholly momentary, but existed

forever in a latent form.
Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

T TR SiErITaT Fewid, Wielledd! DIv o dig 30T S edid T 2l ?

37) Ut 3Mfor YU 2 130!

¥) AT ABREEA ISR

%) faefi<h gurdiar AR

IR SR :

q) () 3Mfor () wh 2) (), (3) 3 (P) 3) (PH) &b 8) (31) 3nfor ()
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4)

4)

5)

&)

6)

9)
?)
3)

4)
&)

)

1)

With reference to the history of ancient India, which of the following was/were common to both
Buddhism and Jainism?

a) Avoidance of extremities of penance and enjoyment

b) Indifference to the authority of the Vedas

c¢) Denial of efficacy of rituals

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

TRATd enfifer gerear deuld, Tl Auer Jafid 3

9) dtg Q) i o 3) dorg ) o e
With reference to the religious practices in India, the “Sthanakvasi” sect belongs to
1) Buddhism 2) Jainism 3) Vaishnavism 4) Shaivism

TR SRR JeHid Wietieldd! PIv S Tr 3med ?

31) Afeuraur ¥) uRferegdur P) IfAGHATD SYRENIC LR N
gt IR :

9) 31, §, B Q) § 3MIfr § Bk 3) 3T, b Fh ¥) §, &, T Beh
With reference to Indian history, which of the following are Jaina texts?

a) Nettipakarana b) Parishishtaparvan

¢) Avadanashataka d)Trishashtilakshana Mahapurana

Answer Options :
1) (a), (b) and (¢) 2) (b) and (d) only 3) (a), (¢) and (d) 4) (b), (c) and (d)

) SR, TH, 9YH, AIGaTeH, e, aIead, IIEGe, fRIeER

4 qd 1

Hif AT

Hif ueed Pres

TTH ERTUATHT I1STaE

e+ ERTOY SO e

HERTETE AT 3fET - AIqaTgH, arehics, JTdad, TEge, fRIemgR anfor arqa
gféror YR ter IToTae

q) H1f gd FIz

TR ARG Sfgraren deufd, sfier, Jeraeit 3frgr sfor meraretd THR0T gl &1 Wiefletih!
DIV T Bl ?

) S R) URETSIh 3) SWEIRe ) 7Y

With reference to the cultural history of India, the memorizing of chronicles, dynastic histories

and Epic tales was the profession of who of the following?
1) Shramana 2) Parivraajaka 3) Agrahaarika 4) Magadha
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)

1)

Q)

2)

3)

3)

8)

4)

“)

Q) "R I

et feeteamien fhdt Siiear aRIeR e 3Md ?
(STeTepT=T TR feTeTTeRaTa I — I15Y)

37) dieft — anfeem 9) TAE - 3TY T
P) STST - HET YA g) PRl — PHcH
qif SR :

9) Teh Uh STE! Q) Hh S S 3) Wheh o STisaT ¥) Id IR STedT

How many pairs given below are correctly matched?
(Site of Ashoka’s major rock edicts- Location in the State of)

a) Dhauli- Odisha b) Erragudi- Andhra Pradesh

c¢) Jaugada- Madhya Pradesh d) Kalsi- Karnataka

Answer Options :

1) Only one pair 2) Only two pairs 3) Only three pairs 4) All four pairs

" St 1ol T AT qeIRl ST HRal T T <1 GUTET TRE HRUITAT RISk Ui S <dl,
R AT T YU @Y JHAH Bl AT RieTeragR @ietierde! il et Foiel dgl e ?
9) i ?) FISIH 3) Eiae §) PR

Who among the following rulers advised his subjects through this inscription?

“Whosoever praises his religious sect or blames other sects out of excessive devotion to his own
sect, with the view of glorifying his own sect, he rather injures his own sect very severely.”

1) Ashoka 2) Samudragupta 3) Harshavardhana 4) Krishna Deva Raya

FHTC MNBIAT ST IolTST Wiciiofiehl vl et giaT?

9) Siist fieger Q) 9= oAy 3) HedT ok ) foem Si=g
Who of the following had first deciphered the edicts of Emperor Ashoka?
1) Georg Bilhler 2) James Prinsep 3) Max Muller 4) William Jones

WofleTidh! VAT IRMRIY frcteRard 31eNdreal el fRERIEd ‘JMuAT 312N’ (IST 3eMp) I
SERd AR ?

9) TG Q) |AR-9 3) oMETSTIe! ¥) AGIRT

In which of the following relief sculpture inscriptions is ‘Ranyo Ashoka’ (King Ashoka) mentioned

along with the stone portrait of Ashoka?
1) Kanganahalli 2) Sanchi I 3) Shahbazgarhi 4) Sohgaura

PifeeaTTe FIARAAR Wefleidh! PIurht e aRIsR 3md ?

37) =TI e waret Shl e 8l e

) SR &l MM fea JTemrear Gt S foall @R df driqeRRET a8 3R,

&) SR Sl TAMH S feetedt g Sifaes i o e s/ idt, TR a1 Gl Jieihredl Jare
Sottar PRk geeR 2.

Tt SR :

9) (31) Sl () Beh Q) (F) M () wh  3) (3F) A (D) Beh ) (3h), (3) M (D)
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)

1)

Q)

2)

According to Kautiyla’s Arthahastra, which of the following are correct?

a) A person could be a slave as aresult of a judicial punishment.

b) If a female slave bore her master a son, she was legally free.

c) If a son born to a female slave was fathered by her master, the son was entitled to the legal
status of the master’s son.

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

3) 4R 99T HIs

AT STqepTeAT qateic HIeAT Ua=TIRIg o gYatieT Seaqdid, IR HRATd @letieueh! v It
e gt 2

37) U 6 ¥) ATl TRAR %) SURRY T

$) Peilord HREs) 3) <Ak arca %) geri Hoih

gl IR :

9) 31, 9, P, 8, )3, P, SN IHh3)d, HAMSHh  8)d, 3N 3

From the decline of Guptas until the rise of Harshavardhana in the early seventh century, which of
the following kingdoms were holding power in Northern India?

a) The Guptas of Magadha b) The Paramaras of Malwa

c¢) The Pushyabhutis of Thanesar d) The Maukharis of Kannauj

e) The Yadavas of Devagiri f) The Maitrakas of Valabhi

Answer options :

1)a,b,c,dande 2)a,c,dande only 3)b, cand d only 4)b, d and e only

ETel! feeiear fadt SIS RIS Soedl 3Ted ?

TS NNGH|
37) T EESl
) SIerhT TRART
%) TNIE G ToRT-HfceR
SIS RTERE
gl IR :

9) Th U SN Q) Heh g ST 3) Weh o STsaT ¥) Id IR STedT

How many pairs given below are correctly matched?

King Dynasty
a) Nannuka Chandela
b) Jayashakti Paramara
c) Nagabhata Il Gurjara-Pratihara
d) Bhoja Rashtrakuta
Answer Options :
1) Only one pair 2) Only two pairs 3) Only three pairs 4) All four pairs
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1)

)

2)

)

1)

¥) TH ERIUATE ST

IR ARATHS 6 ERT0ITeA] il HeHId, HerTel, gl MM Tidt & e URAg g,
9) fsft IR BATRUIRT sex Q) vrfherett Tl ToTeret
3) IPE S Pl 0T RGP fepror ¥) Wl dlg drefant

With reference to the period of Gupta dynasty in ancient India, the towns Ghantasala, Kadura and
Chaul were well known as

1) ports handling foreign trade 2) capital of powerful kingdoms

3) places of exquisite stone art and architecture 4) important Buddhist pilgrimage centres

T PITT WA Fehreal Ao (feh) e, wreflertidhl pior e sRieR ame 2

q) g SIS ST Al THAT S 3R, Albipg HRelell Ueh bRl T,

Q) TH M HEg TS ST HIfAmars Heend o quiuul Jufedd 2.

3) ThIAT ASRTS AR HoRraT gas gidl.

8) HORTAT HIGAT JoATell STeRGRIM HoR FeU UIauad 3ot

With reference to forced labour (Vishti) in India during the Gupta period, which one of the
following statements is correct?

1) It was considered a source of income for the State, a sort of tax paid by the people.

2) It was totally absent in the Madhya Pradesh and Kathiawar regions of the Gupta Empire.
3) The forced labourer was entitled to weekly wages.

4) The eldest son of the labourer was sent as the forced labourer.

) i ERI0T ATOT e

HRAT NS UIRT AT Tarft Jo i (oA ) I Aol TRATd e A aRfRsd snfr

el g el AT Wi, @refied! P RUR FReR/ 3R ?

37) T ST A AR FeARIRT guivol b Bl

q) T fRreierad, 3Rl gTuft ST Oy AaTgR BT Wil & CRaTeN @chid! TS fhaT SruRTefiguT
SRAVITT AT el

&) AT Bl SN SRR TR SISt HRTAT NI B,

R SR :

q) (31) wh R) (31) oMfdr (9) ®eh  3) (3), (9) 3Mor (d) ) () oMV (&) Feh

The Chinese traveller Yuan Chwang (Hiuen Tsang) who visited India recorded the general conditions

and culture of India at that time. In this context, which of the following statements is/are correct?

a) The roads and river-routes were completely immune from robbery.

b) As regards punishment for offences, ordeals by fire, water and poison were the instruments
for determining the innocence or guilt of a person.

c¢) The tradesmen had to pay duties at ferries and barrier stations.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only
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§) AERIErEN UrEH 38R — A1qdares, aidled, dead, JEge, RIemeR, Jed

)

1)

9)
Q)
3)

)

1)

v) 2f&T YR STae

AT T IR G Feled] HRATAT SNdIe Wleflel TerdT a7 HIeishd PRI 378 ?
37) T HISTETet AfieRMET 387

¥) AdgaHe T Jiaild Ugd eRhRT RRITIAT — I

P) A Wadbrat T — [

T) UTeT ERTUITT TRATYAT MYTT hott

i SR :

q) §-31-8-h Q) H-3F-3-9 3) 9-8-31-h ¥) P-8-31-¢
What is the correct chronological order of the events ‘opY VAmoZoX ~obmoi, starting from the
earliest time in the history of India ?

a) Rise of Pratiharas under King Bhoja

b) Establishment of Pallava power under Mahendravarman — I

¢) Establishment of Chola Parantaka — I

d) Pala dynasty founded by Gopala

Answer Options :
1) b-a-d-c 2) c-a-d-b 3) b-d-a-c 4) c-d-a-b

¥) Ul IRehell, ATfecd, AHIfoTn, SRl U

U YRAT el IR e

T YRR Alfeed

T YR el AT SMTfOT AiRephore Rt
YT YRdTe T ufig b

q) YT HRAIS aRgDd, foreader , e

TR, gfde ST dART B .o 3Teel.

) HRAIG IuGSTeilel i G aiferep e

R) IF g Ifep faumT UM WRATNS WIS GfeR0T el ST 2T

3) YRGT AfR aRgderea O g At

8) AR Tl SRIelelt diF qwed |iftd Ry

The Nagara, the Dravida and the Vesara are the ............

1) three main racial groups of the Indian subcontinent

2) three main linguistic divisions into which the languages of India can be classified

3) three main styles of Indian temple architecture
4) three main musical Gharanas prevalent in India
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Q)

2)

3)

3)

8)

IR Fp-ahe nfheaaren shgmren deufd, @refierid! P [am e amed ?

37) St Jefie oivft g WRATdI |atd ST WShId PRetell ool 3.

) IRER VA WSHIT DRetel vl & FHIC TG HIAF TeId: STSIhRITS! Sdelet g,

) TART I R YHRAST a7 SaeT .

Tt S :

9) (@) ST (&) ®H  2) (30), () M (&) 3) () Fh 8) (1) amfor ()

With reference to the history of Indian rock-cut architecture, which of the statements given below
is/are correct?

a) The caves at Badami are the oldest surviving rock-cut caves in India.

b) The Barabar rock-cut caves were originally made for Ajivikas by Emperor Chandragupta Maurya.
c) At Ellora, caves were made for different faiths.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

el 3N TRl ien YRR sfrgrrean Jeufd, Wrefleridt Pord el SRR o5 /38 ?
fereudhea ufRig M IR

37) HERIETOTSRITET gerelt Jerpr ufcHT, e aiet aoT Tuarear il
IR YT SR et S gl S gfcHr

) GAHTIer @ieT MU Wacseled] HIodT aradT, fasuear | HISC 37
B AR (AR TR WShIeR PReleil fdemer i

&) " IR qusEat’/ TR raaR’’ Hewld Uds qrer | TAGIRH
JEHRTIER Faflpr dhelel G

gl IR :

q) (9) Sfr () Beh R) (3N), (9) M () 3) (F) Beh 8) (1) emhor ()

With reference to the Indian history of art and culture, which of the pairs given below is/are

correctly matched?
Famous work of sculpture Site

a) A grand image of Buddha’s Mahaparinirvana with numerous celestial :Ajanta
musicians above and the sorrowful figures of his followers below.

b) Ahuge image of Varaha Avatar (boar incarnation) of Vishnu, as he rescues : Mount Abu
Goddess Earth from the deep and chaotic waters, sculpted on rock.

c) “Arjuna’s Penance”/ “Descent of Ganga” : Mamallapuram
sculpted on the surface of huge boulders.

Answer Options :

1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

UTeie WRATAT delfAid TTeiean Sieufd aTefierdeh! Pk faemm sRieR 3fed ?

37) fafde vepReh faey erefehar ATem gadt | 9d Ufgedn SrdmIRid MUl aTqRet ST g,
q) AT RIS T Jfeaie IRV SHA! T o= Srdereat odTa sl g silel 2id,
P) PRI AT 8l HheUaT gqd T Y T AdDhId Sid STel.

) ThrT IGYSITE b $HdT A9 AT bl Sid gl

gl IR :

q) (31) 3mfor (3) Beh  2) (), (3) M (B) 3) (3N), (P) 3 (8) 8) (), (), (P), (3)
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4)

5)

&)

6)

7)

With reference to the scientific progress of ancient India, which of the statements given below
are correct?

a) Different kinds of specialized surgical instruments were in common use by 1st century AD.
b) Transplant of internal organs in the human body had begun by the beginning of 3rd century AD,
c¢) The concept of sine of an angle was known in 5th century AD.

d) The concept of cyclic quadrilaterals was known in 7th century AD.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

Glefledhl P 3w RifRikEad siewe STd ?

31) 31fTaT oivft ) el gfeR &%) At ®T

i SR :

9) (@) ST (&) wF ) (), (@) M (F) 3) (P) Fh 8) (a1) amfor ()
Which of the following places is/are also known for mural paintings?

a) Ajanta Caves b) Lepakshi Temple  ¢) Sanchi Stupa

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

HRATT Shell 3TT GRIdE Sfigrarea sefd, Wiefiad! Hiur wafd smeft saet el ?
q) gaseR Fefier forRmea HiR Q) dieht I Aep—ape &t
3) TEEEYRT JAhiel QN SUd™ ¥) ISRt Jefet arig wfeHr

With reference to art and archaeological history of India, which one among the following was
made earliest?

1) Lingaraja Temple at Bhubaneswar 2) Rock-cut Elephant at Dhauli

3) Rock-cut Monuments at Mahabalipuram 4) Varaha Image at Udayagiri

Wleiieidh! DIoK SISl /STeeT SRR Seoett /T i/ 3ea ?

nifRrg faepror el

31) SRR SINGEGKS
9) GIXR! qerEs
%) foret fagy
SEIEERGURER) o5l

3) foroucht I ET
gl IR :

9) 31, 9, P, SIMUTS ) T 3T 3 Heh )9, HIMTgs e Q) &, ST 3

Which of the pairs given below is/are correctly matched?

Famous place Region

a) Bodhgaya Baghelkhand

b) Khajuraho Bundelkhand

¢) Shirdi Vidarbha

d) Nasik (Nashik) Malwa

e) Tirupati Rayalaseema

Answer options :

1)a,b,c,dande 2)band e only 3)b,cand d only 4)b,dande
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¢) Qrefieridt P g AR URig 3R /3 ?

31) IRAEG J) SFRBEDh P) INPRIR

qift S :

q) (81) Hh R) (3) afor () 3) (&) nfor () 8) (31), () 3o ()
8)  Which of the following is/are famous for Sun temples?

a) Arasavalli b) Amarakantak ¢) Omkareshwar

Answer options :

1) (a) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

R)  WRATEAT STERIAT HeHid, Wielicid! DIV SISl /Siea SRIaR Seelt /T 37Te /3Med ?
uRig 3T - e Ty

37) Prer - 98 U 9) GREES - AERTY

®) IR - TR 3) TWMHR — I T

g IR :

9) Sheh 37 3N & ) Tch 3 3T § 3) § 371 & Tch ¥) Theh § 3T §

9)  With reference to the history of India, consider the following pairs:
Famous Place - Present State

a) Bhilsa - Madhya Pradesh b) Dwarasamudra - Maharashtra

c¢) Girinagar - Gujarat d) Sthanesvara - Uttar Pradesh
Answer Options :

1) aand c only 2)aanddonly 3)bandc only 4)b and d only

90) WTeiicTidh PIUKC SIS SRR Twett /318 ?
YreTRres f3esTor TSt uRRig

31) gEIiEH TSI PRetell HiR
q) IG-PIS CRIDICT Bl /HGdhedl
&) TOILER qieaTe] et
Tt SR :

9) (31) 3for (9) Heh Q) (31) 30T () 3) (@) afor () 8) (31), () 3fr ()

10) Choose correct one from the following pairs:

Historical place Well-known for

a) Burzahom Rock-cut shrines

b) Chandra-ketugarh Terrocotta art

c) Ganeshwar Copper artefacts

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

99) ANAE® I IS AT AR dewfd, @refierie BIu e /= sRISR 31T/ 37med ?
37) & HEBUTHIC ISTITAT BB ditieiel MellbR HieR 3R,
¥) YR ditieiel § ThHg MellhR HfeR 3TR.
P) d T UATT WG GITET YR PRUIRITS! Bl
) RN TG o] aRERIE < RO il 3T ATDRRT ST TR
gl IR :
q) (31) 3T (8) weh  R) (3N), () 3 (&) 3) (&), (P) 3y (8) %) (30), (3), (P), (3)
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)

12)

3)

13)

9%)

14)

With reference to Chausath Yogini Temple situated near Morena, which of the following statements

is/are correct?

a) Itis acircular temple built during the reign of Kachchhapaghata Dynasty.

b) Itis the only circular temple built in India.

c¢) It was meant to promote the Vaishnava cult in the region.

d) Its design has given rise to a popular belief that it was the inspiration behind the Indian Parliament
building.

Answer Options :

1)(@and(d)only  2)(a), (b)and(c) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

RgTefierdeh! PIUr faem aRIsR 318 ?

9) 3MfTAT Aol JTERT TSk @RI 3TTRd.

R) A WU TG oIl WA 3.

3) Uig—atT et HicR FHeT etedn Wi e,

8) SR FY MeTaR! Tarean @RI 37T,

Which one of the following statements is correct?

1) Ajanta Caves lie in the gorge of Wagora river.

2) Sanchi Stupa lies in the gorge of Chambal river.

3) Pandu-lena Cave Srines lie in the gorge of Narmada river.
4) Amaravati Stupa lies in the gorge of Godavari river.

3ARTST AT HEMeAgRH AT S fdeRieh TIesiHed Ry AR 378 ?

37) I8! TP PIosTd Sithel e

) QU v uifies HyERIT 3TRd.

%) qe fowmll el e 3.

gt SR :

9) (@) ST () B ) (31), (3) MU (P) 3) (D) Beh 8) (31) rfor ()
What is/are common to the two historical places known as Ajanta and Mahabalipuram?
a) Both were built in the same period.

b) Both belong to the same religious denomination.

¢) Both have rock-cut monuments.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

WRATAT ARpIcrh SRRl JeHid, "Taide’ I 2earl Hey ... IR,

q) AT ST [T ?) Ut gor

3) AfeR Fiuvar e Sl Q) UITRIDRT SAfIBRY

With reference to the cultural history of India, the term ‘Panchayatan’ refers to ..........
1) an assembly of village elders 2) areligious sect

3) a style of temple construction. 4) an administrative functionary
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1)

)

2)

3)

3)

8)

4)

Q) U YRAKA g for A1esh

T SR IRATE ST Aifecaed Wiefierid! v U aRIsR 3Tg ?

q) | BT Hifcrp AR Fed fRfgd s

Q) Ui AR ARUT S i1 ARl 8.

3) T Pfadd g AT AeH AT

¥) 3T AR g oREAT AEH e et aRa

Which one of the following statements about Sangam literature in ancient South India is correct?
1) Sangam poems are devoid of any reference to material culture.

2) The social classification of Varna was known to Sangam poets.
3) Sangam poems have no references to warrior ethic.

4) Sangam literature refers to magical forces as irrational.

Ui IRATCH S Wetietiehl PV YRiehTa i deTTea] FRATIhTea] Jerdt Iaser Mg ?
9) FEHTRIIET ?) ATAIHIAET 3) mEgd RSICE

Which one of the following books of ancient India has the love story of the son of the founder of
Sunga dynasty?
1) Swapnavasavadatta 2) Malavikagnimitra  3) Meghadoota 4) Ratnavali

Ui AR g /AifRfRAeprear feuid Wiefleidd! PIv faem /= sRIs 3R /31 ?

31) uiforrar Sey gt gmeft &g

¥) PRRIERT Jeu gvaeneh ame

%) PIfcIGNTET HeY Iga-11 oft armg

it SR :

9) heh 37 3MfOT & ) § 37foT & Heh 3) & Bh Q) o, § o1 &

With reference to the scholars/litterateurs of ancient India, consider the following statements:
a) Panini is associated with Pushyamitra Shunga

b) Amarasimha is associated with Harshavardhana

c¢) Kalidasa is associated with Chandra Gupta-II
Answer Options :

1) aand b only 2) b and c only 3) c only 4)a,bandc

IR TRl AT IR HeHid, PARIITG Ut i ?

q) g1 &9 YHTET U YT SThl UeT 3Tg Sl 3IS[ial Glavl TRATdiel dhral | Jafeld 3Tie.

R) ¢ IR Sefiiel iR 9 fUticsep™ SRIT DRIFSH STl SR I 3[Tal JATaw.

3) & JI-AICHE! T U UhR 3R 3N FoAaqReT IR I U fidd IRUTRS 31T.

) g T RN mreleT 31 31 SNfor efRiur YRdTdeT gt WM f7dd TRuRT 3R,

With reference to India’s culture and tradition, what is ‘Kalaripayattu’?

1) It is an ancient Bhakti cult of Shaivism still prevalent in some parts of South India.

2) It 1s an ancient style bronze and brasswork still found in southern part of Coromandel area.

3) Itis an ancient form of dance-drama and a living traditional in the northern part of Malabar.
4) Itis an ancient martial art and a living tradition in some part of South India.
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1)

?)

2)

3)

3)

3) AT ATIfSTeh AiRplcres fRUS ~F,
SIIBILTD fSTad Sacied] HRATNE T RURIUD! U 3Feled] Yuaral HeATd WTefierdel ivwt
R/ IR MR/ ?
3T) YuSHT I ST fIrT Tadt Hiesr JIeTgg ST SITa.
9) Yuq ¢ T ufiha anfdr sneanfRies wid e,
&) YuS AT HATHS APl 3T&R TR,

it SR
q) (3F) 2T (&) Heh ) (31) 3for ()
3) (3) anfor () 8) TTIh PR SRR TR

With reference to Dhrupad, one of the major traditions of India that has been kept alive for
centuries, which of the following statements are correct?

a) Dhrupad originated and developed in the Rajput kingdoms during the Mughal period.

b) Dhrupad is primarily a devotional and spiritual music,

¢) Dhrupad Alap uses Sanskrit syllables from Mantras.

Answer Options :

1) (a) and (b) only 2) (a) and (¢)

3) (b) and (c) 4) None of the above is correct

WTeTicTieh! PV STeT /ST SRIER SJesett /T 37Tg /3Med 2

31) TRAT : ORI ¥) AfEierey : NS &) TN : PAleD

oift SR

q) (81) Hh R) (31) 3mfor(9) Heh - 3) (3r) 37T () 8) () 3MfoT () heh
Which of the pairs given below is/are correctly matched ?

a) Garba : Gujarat b) Mohiniattam : Odisha c) Yakshagana : Karnataka

Answer Options :
1) (a)only 2) (a)and (b) only 3) (a) and (¢) 4) (b) and (c) only

PGS MO FRAHICTT JIHed Tel Bl TR Il ?

37) Tl SAYFHYT FAG SleId o Falgs! JART SBAT IR, HRATCIHIL TE.
9) fUceea ATeeR U BIOTR Og < Ul ¢ HRAHICIHT iy Mg WY Pdigs! Jeard 31T FhRel

REEISIISINGH

gt IR :
9) (31) Heh ) (§) b
3) Qar (31) By () 8) arerel (1) febar (@) el

How do you distinguish between Kuchipudi and Bharatanatyam dances?

a) Dancers occasionally speaking dialogues is found in Kuchipudi dance but not in Bharatanatyam.

b) Dancing on the brass plate by keeping the feet on its edges is a feature of Bharatanatyam but
Kuchipudi dance does not have such a form of movements.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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4)

4)

5)

)

1)

WRATAT AP SfTgRIreal Feuid, ‘B’ A Jo Mol A1cerdlel U geT Ui BlodTaRET

ISTRIT AR AR 3P 3T, Wetietidh! o faer a1 R 39 auH axd ?

9) U U AThetell 3MTg AT eRR fHRId Wy HaR M 717 Iie fovg acvelet 3118,

Q) TR gEIE, BT gIaTa AT Hepary fAfe wgreprey fobar fcerRies arie viciier ¥gUd Uebfa
el ST,

3) 9RR, TERT I BT I Elerarel Wl Rch PRUIRATS! fohaT eIl ARUIRATS! aToRed! Sir.

¥) Uled (B9, [hRIT ash e 3TIfr g rel fafTe grasma U fohdT Srehcrean HIaHT &eh Rald.

In the context of cultural history of India, a pose in dance and dramatics called ‘Tribhanga’ has

been a favorable of Indian artists from ancient times till today. Which one of the following

statements best describes this pose?

1) One leg is bent and the body is slightly but oppositely curved at waist and neck.

2) Facial expressions, hand gestures and make-up are combined to symbolize certain epic or
historic characters.

3) Movement of body, face and hands are used to express oneself or to tell a story.

4) Alittle smile, slightly curved waist and certain hand gestures are emphasized express the feelings
of love or eroticism.

el PO AT IR PleRgSKiiel BAHE AHI: Aaid gel’ o ¥aRY JRATNT &R ?
9) ST AT SR feereT gl Q) e TSt Sarrt SRRt
3) UasTTiord fae 8) FRSTHGRISH T ST 3TeeT

Which of the following phrases defines the nature of the ‘Hundi’ generally referred to in the
sources of the post-Harsha period?

1) An advisory issued by the king to his subordinates

2) A diary to be maintained for daily accounts

3) A bill of exchange

4) An order from the feudal lord to his subordinates

¥) U YRdTeer URIg Sxhl

R SicrgRITeaT FeHid, @reft foeted fbell Siieem sRIeR SJesedl e ?
RfcreTRRres @ehr <IEIC)

37) SRicd o fagH
q) femm dig fagH
&) AR Jorg fage
gl IR :

q) STSATUDT Tepal TGN R) Feh T Sile! 3) Beh o STl ) Fd o S

With reference to Indian History, how many pairs given below are correctly matched?
Historical person Known as

a) Aryadeva Jaina scholar

b) Dignaga Buddhist scholar

¢) Nathamuni Vaishnava scholar

Answer Options :

1) None of the pairs ~ 2) Only one pair 3) Only two pairs 4) All three pairs
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Q)

2)

1)

3)

)

1)

Q)

TR AR SRRl AeHia WA, BRI S SHAER g IRIG .o 2.

q) S firg Q) TCHBR 3) AfRE Regpr 8) Tt

With reference to the history of ancient India, Bhavabhuti, Hastimalla and Kshemeshvara were
famous ....

1) Jain monks 2) Playwrights 3) Temple architects 4) Philosophers

y) f3E Ao, Jao AHT 30T HEagie R

e Foawa
Jael ARITSg
RPN BIBIie TR
q) feght e
Grefletdhl DI faen /= aRIeR 3R/ 31med ?

37) SeAHeRAT PRIPAIT TRRI TARSH ISYATT UGN v {9y 7&t GRIRIG <fiST @F digaen
2.

9) geoIg o JoeThedl BRIPAd. R JeleR dhesll dhefl ST RYeL T4l SficTieet!.

®) ISR AT SaRRIT-2 T BRIGT aRhl § THT IR fhTRUSIER TR giel.

Tt IR :

q) (1) Fh R) (81) 3Mfor () 3) (@) for () 8) (31), (3) amfor ()

Which of the statements given below is/are correct ?

a) It was during the reign of Iltutmish that Chengiz Khan reached the Indus in pursuit of the
fugitive Khwarezm prince.

b) It was during the reign of Muhammad bin Tughluq that Taimur occupied Multan and crossed the
Indus.

c) It was during the reign of Deva Raya Il of Vijayanagara Empire that Vasco da Gama reached the
coast of Kerala.

Answer Options :
1) (a) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

gt AecraeaT Ag YA, Agqd Aeheral TR '3Ifid’ TUd i@ SiId 3R, AT HeHid,
Gleiieieh! PIurd e /= sRIeR 318/ 37ed ?

37) fegean G S dgd & U UTeie Facefl Ferm g,

) ‘"R F&l'T PRI Goroll GoAdHAT BRIGard TRTcard 3fel

qgift S
9) (31) Heh R) (¥) wch
3) arer (1) 37fr () 8) (31) fohar (3) Sgrer Tl
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3)

3)

)

1)

Q)

In the revenue administration of Delhi Sultanate, the in-charge of revenue collection was known
as ‘Amil’. Which of the statements given below is/are correct?

a) The Iqta system of Sultans of Delhi was an ancient indigenous institution.

b) The office of ‘Mir Bakshi’ came into existence during the reign of Khalji Sultans of
Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ORI sferarer deuld @refletdt dio /dt /3 sRIsR 8me/d?

31) YRR Ufgel T 3MHHUT STATeTSeH Wooi T Pl S,

¥) IMASE Weoi AT PRIBIT, ThT HileT 3MpHUH RGiRia goier ARelt 3T &R dal arde.

&) HeHG—{oT-qaerd- Tl ATl ITR-UBEHmeId IR R Hilletiehs THIgeT.

Tt S :

9) (ar) smfor () ?) (@) T 3) (a1) smfor =) 8) (®) Fh

With reference to Indian history, which of the statements given below is/are correct?

a) The first Mongol invasion of India happened during the reign of Jalal-ud-din Khalji.

b) During the reign of Ala-ud-din Khalji, one Mongol assault marched up to Delhi and besieged
the city.

¢) Muhammad-bin-Tughlaq temporarily lost portions of north-west of his kingdom to Mongols.

Answer Options :

1) (a) and (b) 2) (b) only 3)(a) and (¢) 4) (c) only
?) T A
JRT HRAT AT SR IRAN v ot 37 Slel!

9) (31) SMfor (3) Hh - R) (P) Fh 3) (a1) Smftr (&) weh ) (31), () smor ()
The arrival of Babur into India led to the ...........

a) introduction of gunpowder

b) introduction of the arch and dome in the region’s architecture

c) establishment of Timurid dynasty

Select the correct answer using the code given below:
1) (a) and (b) only 2) (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

TR SRERITRAT TS, Wioflefddh! I IROTH e JMa9adh Wi ged 3T/ 3ed ?

37) Teh ST AT dheipd ST SMIBR STOT T AR AP Uidig fbar T Ioiehi
IUBPR

¥) SR fE=or Sfor areT AR SmUTRd Ui IRa-aT 3

®) STERRSR 3o < 3rferct T it —araefia Heer fFofor awor

gl IR :

q) (31) 3T (3) b 2) () AN (B) Beh  3) () Beh 8) (31), (9) 3y (@)
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3)

3)

)

1)

Q)

With reference to Indian history, which of the following is/are the essential elementary elements

of the feudal system?

a) A very strong centralized political authority and a very weak provincial or local political
authority

b) Emergence of administrative structure based on control and possession of land

c) Creation of lord-vassal relationship between the feudal lord and his overlord Select the correct
answer using the code given below.

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (c) only 4) (a), (b) and (¢)

el WRATAT AGHId, STENRGR 3MUT SR JTeaTd Rl T/ WS 3Tg ?

37) STETfRER & ~1fyes Snfdr Qiferd aiedien Seeard wHiF Fgehl UR® 8d, TR SHIMGR 3 Hede
TGATRIRE PV P SAUATRERT Heqel NUDPR URD Bl

§) STENRGRIT fietell STHIH GeRURNIG gt AT STHIMGRT Hedel JAfUPR JeURURNTT g,

Tt S :

9) (31) weh ?) (@) T 3) QI (an) e () ) (3) foba () e A

With reference to Mughal India, what is/are the difference/differences between Jagirdar and

Zamindar?

a) Jagirdars were holders of land assignments in lieu of judicial and police duties, whereas
Zamindars were holders of revenue rights without obligation to perform any duty other than
revenue collection.

b) Land assignments to Jagirdars were hereditary and revenue rights of Zamindars were not
hereditary.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) R BBt aRgDHel

Q) JAHERMT WA YT Pel

3) ST FUREIT srhaR fafayr emfe fagmieh ==t weft ar

¥) S fafder emit IRER anfifes STeiaR <t PRUATATS! Tehal STHT 3RAT el

Ibadat Khana at Fatehpur Sikri was..............

1) the mosque of the use of Royal Family.

2) Akbar’s private prayer chamber.

3) the hall in which Akbar held discussion with scholars of various religions.

4) the room in which the nobles belonging to different religious gathered to discuss religious
affairs.

A aFRaT Geuid Wieliclid! Pio e sRieR A ?
q) TR & Ued! ATl FHTE 31heR™ foat gihl. Q) AR 25, Sacadier Yug! IeT e,
3) TR i qacadieR YuGHl JET e, ¥) MR- 3eh INTET QN AT,
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3)

3)

4)

4)

5)

With reference to Mian Tansen, which one of the following statements is not correct?
1) Tansen was the title given to him by Emperor Akbar.

2) Tansen composed Dhrupads on Hindu gods and goddesses.

3) Tansen composed Dhrupads on Hindu gods and goddesses.

4) Tansen invented many Ragas.

HTefiedeh! I Tael FHCHT AR gATelRdiate 3ead 31 dafches dlecar IR e ?
q) TR R) PR 3) TERfR 8) TESTEM
Who among the following Mughal Emperors shifted emphasis from illustrated manuscripts to

album and individual portrait?
1) Humayun 2) Akbar 3) Jahangir 4) Shah Jahan

qRATeAT ARpIID TgrITedT AeHid, Wielieidd! Divid fae sRIsR 31T/ 3MTed ?

37) e shl Aediel Jeaet geiq SRaT ST WHBIE A UiexT FFRER IR ST 3.

) TGl Y IRT AGRT AT T AT FIUINATS! e aTesal Wedh SO ATHRER! JToRuAT 37Tl
gl IR :

) (1) Heh R) (F) Bh

3) (1) 3for () < 8) (37) fbar (@) Stel el

With reference to the cultural history of India, which of the following statements is/are correct?
a) White marble was used in Mughal Buland Darwaza and Khankah at Fatehpur Sikri.

b) Red sandstone and marble were used in making Bara Imambara and Rumi Darwaza at Lucknow.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Rae JAfiel AR HAfRSaoier dF Afdhe gHed JauuMaT gl Sgled dxuard 3flel. AR

GRS Teflelidh! Pivrd e sRieR e ?

31) AEATY GfeR g Safafefmiiedl e e

¥) AT iR quiF ster-faeHT It dhet Bl

@) AR HIRTET FIOTHcrST (Hedrear HiCRTe TATAHT) JIFU! . TIPS T dhefl gie.

SR YA

q) (31) eMfr (3) B R) (W) S () B 3) (3N) M (D) Beh  8) (3), () MM ()

The Prime Minister recently inaugurated the new Circuit House near Somnath Temple at Veraval.

Which of the following statements are correct regarding Somnath Temple ?

a) Somnath Temple is one of the Jyotirlinga shrines.

b) A description of Somnath Temple was given by Al-Biruni.

¢) Pran Pratishtha of Somnath Temple (installation of the present day temple) was done by
President S. Radhakrishnan.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)
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£ ) TEMHI ISTae, ISR ISTae, WRIST AT

q9)  gEMAIRISET
) fIoTRE IeEe
3) WRISTAHTA
q) SEMHI I[STEae
q)  HEIGHT HRARIT ASHId, Wleliclueh! DIV $hH BRI G Tl S I 3718 ?
) TR — I[RDR — T R) TBR — WU — AT
3)GHT - TPR - W 8) R0 — FAT — IRBR
1)  Withreference to medieval India, which one of the following is the correct sequence in ascending
order in terms of size?
1) Paragana - Sarkar - Subha 2) Sarkar - Paragana - Subha
3) Subha - Sarkar - Paragana 4) Paragana - Subha - Sarkar
) URA SRIERIRAT HeHid, Wiefictih! PIvel ' Pelg-SRA UM 3lwel S ?
9) 3RS JIRY Q) P 3) URRRE goaTdR  8) TS
2)  Withreference to Indian history, who of the following were known as “Kulah-Daran”?
1) Arab merchants 2) Qalandars 3) Persian calligraphists 4) Sayyids
3)  WRGH SRR AL P dTR g ATUROG0 ... 2.
q) QTR ?) TG 3) faoe= 8) IR
3) Banjaras during the medieval period of Indian history were generally ............
1) agriculturists 2) warriors 3) weavers 4) traders
§) TG HRA, BAM A7 AQRETN FH ... 2.
q) IS ?) =moft 3) QI 8)
4) Inmedieval India, the term “Fanam” referred to :
1) Clothing 2) Coins 3) Ornaments 4) Weapons
?) ISR IeTae
9)  WTelierdeh! DIV FHOT TS UG SIE0T TRTER Ueh A1+ STER axIdet ATAOT HouT e Sfauiamerat
4 g ST HIeTh T Bt T Sacrd Uit g T Fde ISR 5T RUAT I g et ?
9) MEay [ Q) g 11 3) BRI ) gamsg 11
1)  Who of the following founded a new city on the south bank of a tributary to river Krishna and
undertook to rule his new kingdom as the agent of a deity to whom all the land south of the river
Krishna was supposed to belong?
1) Amoghavarsha | 2) Ballala IT 3) Hariharal 4) Prataparudra I1
) Tl DI FER PIhdT ATHTSAT A AT Tgw@Td §eR 8l ?
q) PBrBITET ?) HIgug!
3) HEellugue (FRjefiugu) 8) TGO

HERTE IISTAFR ARRY HaT gaukia At : 3fgr g 9@aw,/ 30



2)
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3)

8)
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5)

&)

6)

Which one of the following was a very important seaport in the Kakatiya kingdom?
1) Kakinada 2) Motupalli
3) Machilipatnam (Masulipatnam) 4) Nelluru

"B HeT' FiET § TR qiUsmIde U SgaH IR 2.

q) AR R) el 3) WMmRS 8) fasRTR
Building ‘Kalyaana Mandapas’ was a notable feature in the temple construction in the kingdom of
1) Chalukya 2) Chandela 3) Rashtrakuta 4) Vijayanagara

fSTIFIRET 2TRAeh PeUeaTea PRUTITTad Wleileeh! PIvR f{UT /= aRIaR 3118/ 3Ad ?

31) SHfEFeRIe eRrET &R ST qoreigaR HeEa =udTd 3feT 2.

) PRI Wil HTetdhiv! SENT R HReT,

afft S :

9) (31) Hh ?) (@) T 3) (31) Sfor () Q= ) (3) foban () Qe
Regarding the taxation system of Krishna Deva, the ruler of Vijayanagar, consider the following
statements:

a) The tax rate on land was fixed depending on the quality of the land.

b) Private owners of workshops paid an industries tax.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HRAT SHTeTed] SUATRI Sfaurgd STTRrTel 3et HRfP ARDIcD AU AT IR AL PRIT 3ael.

ST SUARRIET GRATIAT ARRI SIERITAT T IRATIATS!, WTeteTieh! DIuId FHEIRUT / FEIhROT

wafd fIeamTg 3Ry arehd ?

q) IR IQTT Jerd, TR 3T FEIPe Sie TRdwe SEr dievf el dFE 8.

Q) ST YRATE ISTheAHT IT FSHIT gHTa TR, STeIvl oIkt ST dilg f¥erg, JHT F=emm fae.

3) STCTAT SUANRIT ARG a=IHe ANRI JaRT JR FTeTl

®) (9) 37T (Q) Sar AT FeHTa @R TE=uT 3med

India maintained its early cultural contacts and trade links with Southeast Asia across the Bay of

Bengal. For this pre-eminence of early maritime history of Bay of Bengal, which of the following

could be the most convincing explanation/explanations ?

1) As compared to other countries, India had a better ship-building technology in ancient and
medieval times

2) The rulers of southern India always patronized traders, brahmin priests and buddhist monks in
this context

3) Monsoon winds across the Bay of Bengal facilitated sea voyages

4) Both (1) and (2) are convincing explanations in this context

eI YRA, ‘HEdRT ST ‘ugfhen’ & ueH ... TSt TR ST g,

9) TSR] INfIBRY R) TEYHE

3) IRF FHBE T 8) e fiesd TgE

In medieval India, the designations ‘Mahattara’ and ‘Pattakila’ were used for .........
1) military officers 2) village headmen

3) specialists in Vedic rituals 4) chiefs of craft guilds
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8)

R)

9)

90)

10)

eI YRaren e SigrreaT deHid, sRUST AT A&/l HaH 3ME ...

9) FYURT PHTR Q) TR RIS fietetl ST S

3) ST RIS Sfefdsh aTqRel ST ) Sl STHIM ST ANTeSiean STeeid SHUIaRd
With reference to the economic history of medieval India, the term Araghatta’ refers to

1) bonded labour

2) land grants made to military officers

3) waterwheel used in the irrigation of land

4) wasteland and converted to cultivated land

WIeiieidh! PIord St /e sRISR Sesett /T Mg/ 38 2
TP URAI IS T U

37) FUrepT 78 YR

) g ST

EB) DT HeldX

Tt S

31) (3r) 3nfor (9) 9) b (9) &) (31) 3Mfor () ) Hth (P)

Which of the pairs given below is/are correctly matched ?
Medieval Indian State Present Region

a) Champaka Central India

b) Durgara Jammu

¢) Kuluta Malabar

Answer Options :

1) (a) and (b) 2) (b) only 3)(a) and (¢) 4) (c) only
Tefiertd! o wReeft Harem™ ARdTkdie & snfor fe=uen @mfiage favgauor =@t deft 2
q) S IR ?) o dfiewe defiR

3) S € AegHre ¥) 3 qrefel N

Which one of the following foreign travellers elaborately discussed about diamonds and diamond
mines of India?

1) Francois Bernier 2) Jean Baptiste Tavernier

3) Jean de Thevenot 4) Abbe Barthel Carre

ISt oRaes JfTeT JeT T, ISR ATHTSAde Afeel Wietiertdhl PIoram Sadlet el gier ?

37) it ¥) Safay P) ol g) PATBR

gt SR :

q) (1) 3mfor (8) wh ) (31), (F) 3N () 3) (30), (@) 30 () 8) (30), (W), (®), ()
According to Portuguese writer Nuniz, the women in Vijayanagara Empire were expert in which
of the following areas?

a) Wrestling b) Astrology ¢) Accounting d) Soothsaying
Answer Options :

1) (@and (b)only  2)(a),(b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

3) HRIST AT
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?)

)

1)

Q)

2)

)

1)

)

V) FeRg Wifec, enfics fRUcdt— Wbt 3ol Yot Tae

FEIGH HRATI A AT
HEIIH BB dfHies R — Hh 3o gt awsae

q) FERFN YRS Afecd
"'IRERAS’ AT BRI WG Siag Uk ok TR aifedet It T IS heT:
q) PSR R) TR 3) QMESTEH 8) IR
“Yogavasistha” was translated into Persian by Nizamuddin Panipati during the reign of :
1) Akbar 2) Humayun 3) Shahjahan 4) Aurangzeb

WTeiieids! PIord Sl /STieaT sRISR Seselt /T 31T/ 38 ?

EEEN) [{HQ T
31) dfergl WM Hela Rieft
) ST IS ST s
P) TRI—TRDRI FeTet
gl S :
q) (3) 3T () weh ) (3N), () M0 (®) 3) (31) Hh 8) (31) 3mfor (<)
Which of the pairs given below is/are correctly matched?

Traditions Communities

a) Chaliha Sahib Festival Sindhis
b) Nanda Raj JaatYatra Gonds
¢) Wari-Warkari Santhals
Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (a) only 4) (a) and (c)

3) AP HIIciiet enffics fRUcH — bt 3o Yobt Tzaes
SIS ERT0T PITodeT JNOT STeRT FAT BTt Bcfeit degl Wletiefdeh! PIvit YchRid TR a=d ardT/ad ?

31) q1g, el q) To D P) IR
gt IR :
9) () ®h R) (31) &Ml (F) e 3) (@), () 37 () ¥) () 30T (B) Peh

Who among the following Bhakti Saints was/were preaching when the Lodi dynasty fell and Babur
took over?

a) Dadu Dayal b) Guru Nanak c¢) Tyagaraja

Answer Options :

1) (b) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
WefleTddh! P faem /3 SRSk 31/ 3Med ?

a7) 'faster’ & < qrg, STe el fepauiiElt JET SR,
) gEt HrT JeTE qearaiF Jige 8.
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3)

3)

8)

4)

4)

it S
9) (31) Heh ?) () wh 3) aFer (31) 3T () ¥) (31) fobar () Qe ATl

Which of the following statements is/are correct?

a) ‘Bijak’ is a composition of the teachings of Saint Dedu Dayal.

b) The Philosophy of Pushti Marg was propounded by Madhvacharya.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TR R SIERITET HeHid, @eflerid! PIv e /3 sRIeR 3/ 3Ad ?
37) TRRIST HATDT qgciep FIE PRI it PRUMNT Hfchflel 3T

¥) ANRSTH 3 A et et et

) ST ST WK & FHbIe 3MTed.

) JFHMERIGH & HIaH RhcHERTdl I PRURT Hihid M.

it S
9) (31) 3T (9) Heh R) (31), (9) afor ()
3) (9) 3fr (8) weh 8) (31), (3), (Bb) 3 ()

With reference to cultural history of India, ihich of the following statements are correct?
a) Most of the Tyagaraja Kritis are devotional songs in praise of Lord Krishna.

b) Tyagaraja created several new ragas.

¢) Annamacharya and Tyagaraja are contemporaries.

d) Annamacharyaldrtanas are devotional songs in praise of Lord Venkateshwara.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (¢) 3) (b) and (d) only 4)(a), (b), (¢), (d)

TefleTidhT ot faer /= aRIsR 31 /3Mea ?
31) A a1 8 SheRTT TG gl
) Ad PeR JrET ARG 3THS TRigal TR Gy THT g,

it S
9) (31) Heh R) (¥) ®ch
3) arer (1) 37fr () 8) (31) fhar (9) Sgrer el

Which of the following statements is/are correct?

a) Saint Nimbarka was a contemporary of Akbar.

b) Saint Kabir was greatly influenced by Shaikh Ahmad Sirhindi.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ST RIS feled] SHITdiel GH=IT ST Al 99 IMIgoM Jiedl Jaedrd Igie AR
YTl g1 SXETE 3 RO 3ffel. Wiefloiid ot faem morear Ripaufd araRar
yifcrfifRrer s ?

q) HETd T AT TR HFh.

R) 9% ¢ 9mEEd, ¥ed—3TRIcaTd 3Rietel ST quf @1fid a1,

3) I gfehaTe & AT SIHERITS! Masdd AT gl

8) A Al fiesdrrEr gidl.
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6)

9)

7)

<)

The world’s second tallest statue in sitting pose of Ramanuja was inaugurated by the Prime Minister
of India at Hyderabad recently. Which one of the following statements correctly represents the,
teachings of Ramanuja?

1) The best means of salvation was devotion.

2) Vedas are eternal, self-existent and wholly authoritative.

3) Logical arguments were essential means for the highest bliss.

4) Salvation was to be obtained through meditation.

Hezrgfie HRATEAT AR SRIGRITCA FaHTd, Wiefertich! IR R/ SRR 318 /3R 2
37) dfie el Rig (RITR) Theararel gia afor =it gfcigorar fmer de.

q) Pee UoemTiiel Tl grst=Hrea fAGIATeR UeRg IURRIT dhet 30T ST ARt

gt SR :

9) (31) Heh ) (¥) wch

3) qt (an) sfr (a7) 8) (37) fobarr () QI e

With reference to the cultural history of medieval India, consider the following statements :
a) Siddhas (Sittars) of Tamil region were monotheistic and condemned idolatry.

b) Lingayats of Kannada region questioned the theory of rebirth and rejected the caste
Answer Options :

1) (a) only 2) (b) only 3) Both(a) and (b) 4) Neither (a) nor (b)

eI AR U SR AeHid, Il Tearal @laiieiich! HIvrl Ygdial JTSYRTT T ?
37) €U ST SERATaR a0

§) Thrhl ST YR qudl <

@) AT AL TG /AT ST PROIRIS! gfas fidra uaur

Tt S :

%) (31) omfdr (@) wh ) (3F) S () 3) () T () 8) (1), () 3mfor ()
With reference to the religious history of medieval India, the Sufi mystics were known to pursue
which of the following practices?

a) Meditation and control of breath

b) Severe ascetic exercises in a lonely place

c¢) Recitation of holy songs to arouse a state of ecstasy in their audience

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TRTg TR JATAT AT Qlefieidd! P U /= aRIeR 31/ 3ed ?

31) AT g Gtd, I A Alcd I FASH 3.

q) RIS STl & QI ST IR 3.

%) ¢ qoriiaRY, AR S HRETE A Teretedr el IR 3Mfor Hiemfidrear deriear e aire.
it S :

q) (31) T (&) Beh  2) (@) 3o () 3) () enfer (@) 8) (31), (9) mfor ()
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With reference to the famous Sattriya dance, consider following statements :
a) Sattriyais a combination of music, dance and drama.
b) Itis acenturies-old living tradition of Vaishnavites of Assam.

c) Itisbased on classical Ragas and Talas of devotional songs composed by Tulsidas, Kabir and
Mirabai.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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3)

)

1)

Q)

2)

3)

¢) faifeer I5Tae (qu4v-9%8V)

TR 3nfor fafeer-vTReta g
fafer meme - TegeR STRew anfor TSR YT
fafeer ot anffes uRoma

q) RNt Infor fafeer-wRdaT g

AR SIERIAT FSHTd, Wiefietieh! P fauT /= SRIeR 31g/ 3ed 2

37) Mepicdt M 2aRTEIG FRAMIGT e STef),

) TR I fASTIIR AT SedR 37Te.

%) Aferds ST FITIAT TEHE AME SRV dredTd Sdeled USTH Fet,

Tt S :

1) (@) T ?) (a1) sfor (=) 3) (3) smfor () 8) (31), (3) 3T ()
With reference to Indian history, which of the following statements is/are correct?

a) The Nizamat of Arcot emerged out of Hyderabad State

b) The Mysore Kingdom emerged out of Vijayanagara Empire.

¢) Rohilkhand Kingdom was formed out of the territories occupied by Ahmad Shah Durrani.

Answer Options :
1) (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (¢)

YRR SRR HeHid Wiefietddh! PIvrt f[u™ aRIsR 3ed ?
37) ST AlDIF! ITd PREF /MGH 4 fFIRUSIR Tordcl epiT foetedn STHFIeR FATaT e,

q) STehIAl S 3Tegddr ISR Hearcidhgd el dedid sde.
P) ST TXT SfeaT PUH Ao Y faSRIR AmTsare afifreieg AR Hdcied] YR

BREMT T Pel.

Tt S :

q) (31) &fdr (3) B R) () 3N () B 3) (3N) 3N (D) b 8) (3), () 3N ()

With reference to Indian history, which of the following statements are correct?

a) The Dutch established their factories/werehouses on the east coast on lands granted to them
by Gajapati rulers.

b) Alfonso de Albuquerque captured Goa from the Bijapur Sultanate.

c¢) The English East India Company established a factory at Madras on a plot of land leased from
arepresentative of the Vijayanagara empire.

Answer Options :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

WefleTddh! P faem /3 SRSk 31/ 3Med ?

37) e WA AR g SIgge SiRa ARIUS AewIiid! T gl

) Je BN SR g Meara o el Sfdr 99 i U T Juiia aTR.

P) T BT SfRRAT I <RasT MATT AoRT hedl STl

qif SR :

q) (31) o (9) Bk 2) (3N) 3o () 3) () 3nfor (@) 8) (31), () 3nfor (@)
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2)

3)

3)

Which of the statements given below is/are correct ?

a) St. Francis Xavier was one of the founding members of the Jesuit Order.

b) St. Francis Xavier died in Goa and a church is dedicated to him there.

¢) The Feast of St. Francis Xavier is celebrated in Goa each year.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

2) fafeer TeTR - Mgk SeRew JNfor EEwREET YT

JoTaie Herdal T I [Iedd Plelord! AT doeft BROT ...

9) Tl e JefieT Tt HesM a9 PRI Hifiicel

R) Tl WRATT UrAfaerd Jfas Mo et gt

3) 1T faey pe) 0T AT A=A ISR SUTed] - ST gl
¥) e fodter ARG YRATT UARIHIT BERATST Ufifera e~ 8ld
Wellesley established the Fort William College at Calcutta because

1) He was asked by the Board of Directors at London to do so

2) He wanted to revive interest in oriental learning in India

3) He wanted to provide William Carey and his associates employment
4) He wanted to train British civilians for administrative purposes in India

WTefeTih! DIV I e deRef AR dhelcdl AfSTISIRT AT~ WUl SR] &ld ATal ?
q) SHITAT WAGR A6 H= IH R0l

R) UIfeR=aT UIeRITIRI HRATET R SIUITId!

3) uHraTet (3@ Sl JRIET HRUIrTS!

¥) YR TR fefesrna aedva gwemfia oror

Which one of the following statements does not apply to the system of Subsidiary Alliance
introduced by Lord Wellesley?

1) To maintain a large standing army at other’s expense

2) To keep India safe from Napoleonic danger

3) To secure a fixed income for the Company

4) To establish British paramountcy over the Indian States

TS P 9904 HEY diclell suTerdt WIufl .......... Wi dTete.

9) ufgel HERIG Siegl fSIfCer T AR A-ardt TR gl 37Ifor hresuft .

Q) T St v I 9%99 I fegidied el RAR A pheiaT HRIST IE el
3) TS AT PrRIGHIT obaes Fo e,

8) A8 ALY YRATH! HIe0l STell Siegl d 9Tl Gd Tfehet = aTel.

The Partition of Bengal made by Lord Curzon in 1905 lasted until .........

1) the First World War when Indian troops were needed by the British and the Partition was
ended.

2) King George V abrogated Curzon’s Act at the Royal Durbar in Delhi in 1911.

3) Gandhiji launched his Civil Disobedience Movement.

4) the Partition of India in 1947 when East Bengal became East Pakistan.
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1)

?)

2)

3)

3)

el PHIord Sl /SeaT sRISR Sesett /T Mg/ 38 ?

31) IR N IR NSINERRIE
9) s - X SfSAT DU YRAR Toie
) fRrfleR — AT I helell Hggel Sl
gt SR :
9) Wheh 37 3MUT § Q) § 3701 & heh 3) & Bh ¥) o, § 3 &
With reference to the history of India, which of the pairs given below is/are correctly matched ?
a) Aurang - In-charge of treasury of the state
b) Banians - Indian agent of the East India Company
¢) Mirasidar - Designated revenue payer to the State
Answer Options :
I)aandb only 2) b and c only 3) c only 4)a,bandc
3) fafeer roracten anffe afkomm

FARTAT I UfgedT foATEd, ST SvC ST U PREMT/PREN Wieileldh! PIvIT TR
gl /3I 2

) Yo ¥) Ripreper %) Hremg!
g IR :
9) (31) Heh R) (31) 3o () 3) (@) 3T () 8) (1), () iy ()

In the first quarter of seventeenth century, in which of the following was/were the factory/factories
of the English East India Company located?

a) Broach b) Chicacole ¢) Trichinopoly
Answer Options :
1) (a) only 2) (a) and (¢) 3)(b) and (c) 4) (a), (b) and (¢)

¢ T ATDRIAT HEART ST ST SISAT DU YT Ffd hefed] 9 <Y BT,

q) T YA, deI-eaT 37T 37 R) AR, Hig, SR 31 IRy
3) 9, 9iEl, A, wTel S g 8) PIgd, YefiH, Aiecug 3fdT g

The staple commodities of export by the English East India Company from Bengal in the middle
of the 18th century were

1) Raw cotton, oil-seeds and opium 2) Sugar, salt, zinc and lead

3) Copper, silver, gold, spices and tea 4) Cotton, silk, saltpetre and opium

aTRiehgEaT, 9% T eI WRATE fScieT JSTacrar e gRom gl
9) IR edper FRafdd e Q) YRR ATADIAT HREATAT TRAT TG
3) YRAR 9 AR Q) BN ANPRIT FUTST TG

Economically, one of the results of the Britith rule in India in the 19th century was the
1) increase in the export of Indian handicrafts

2) growth in the number of Indian owned factories

3) commercialization of Indian agriculture

4) rapid increase in the urban population
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)

1)

Q)

Tefierdeh! vt T TehIfORATeT Srdehrea gatuia HRATeR Sieied SiEfid shidren THIar 3FdH
Ui PR ?

9) YRART gD TE HTefl,

R) YR SEEINIG I3 HISAT FHIUN SRISt Filel.

3) QTRAT 3D A Iod olle CIhudTd 3T,

g) feifcer SR SRR ARY e AQuaTT 3fTef.

Which of the following statements correctly explain the impact of Industrial Revolution on India
during the first half of the nineteenth century?

1) Indian handicrafts were ruined.

2) Machines were introduced in the Indian textile industry in large number.

3) Railway lines were laid in many parts of the country.

4) Heavy duties were imposed on the imports of British manufactures.

Q) faifder IoTae - TeATIS YURYN, BRI, IR, AEwT,

fafeer IsTaciiier aeTe s guRon
fafesr sadiciiel BRI 9 3T
fafeer IoEd el At g R

q) fafeer ISEIkiiar geATcHd FURN

SE BRIST 9¢93 FEol Wieilette! PDIurd e /3 SRIeR 3R /3T ?

37) TETT ATIR ST AHRIGRAT ATIR G HRATeT 9 ST Hud! TR FehaR! YR 3T,

¥) PO I SRIeiedT MR FegliaR fafesr Iefad vt sRicar Ufare et

&) YRATAT HEGereR 37 fsifcer wiqa = gid.

qift S :

q) (&) ST (3) ®eh ) (&) ST () 3) (3) fr () 8) (1), () a7 ()

Consider the following statements about ‘the Charter Act of 1813’:

a) It ended the trade monopoly of the East India Company in India except for trade in tea and
trade with China.

b) Itasserted the sovereignty of the British Crown over the Indian territories held by the Company.

c) The revenues of India were now controlled by the British Parliament.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

Rl fegaeIRITT IO (9¢Y¢) T I /TR PRI BT/ BIcaT ?

37) WRAT IS SISUATIT PIOTTE! 8, ATBIRUL.

¥) MR TR focher oacia daur.

F) T SSUT BT YRATRISRT AR FRITT ao.

gl IR :

q) (1) 3for (3) b 2) (31) 3T () 3) (@) afor () 8) (31), (9) 3T (@)

HERTE IISTAR ARRY a1 gauia At : 3kigrt a g a@as,/ 8
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3)

3)

8)

4)

4)

5)

)

What was/were the object/objects of Queen Victoria’s Proclamation (1858)?

a) To disclaim any intention to annex Indian States.

b) To place the Indian administration under the British Crown.

c¢) Toregulate East India Company’s trade with India.

Answer Options :

1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

A - IS T ... off Feftra g

q) ATTNID JURT ?) erfores guRom

3) Ulei TR GURoM g) HCAHD JURU

The Montague-Chelmsford Proposals were related to ........

1) social reforms 2) educational reforms
3) reforms in police administration 4) constitutional reforms

4398 TT HRA FRPR BRIGT FTEIU gRATRT

9) =TfeianT 3T faftries aieadic eRhid geraRur

Q) g 3T Uil TRBR ARIBR &

3) YRA IRE AT BRI T PR

8) IR BrENE ATEY

The Government of India Act of 1919 clearly defined

1) the separation of power between the judiciary and the legislature
2) the jurisdiction of the central and provincial governments

3) the powers of the Secretary of State for India and the Viceroy
4) None of the above

Glefiefdeh! PIurd faere /= sRIsR 318 /3fTed ?

37) 9R9R =T HICH JeHAhIS RBIRIT 29 IUUET SR GaTdT I ARl FqHl SfebR QU
freRR™ hefl e,

¥) 9%3Y T YR WRORAT PRI TR faferdesd IRda S e

Tt S :

9) (31) wh ?) (3) Hh 3) (31) Mfor () Q= ) (37) foban () et T

Which of the following statements is/are correct?

a) The Montagu-Chelmsford Reforms of 1919 recommended granting voting rights to all the
women above the age of 21.

b) The Government of India Act of 1935 gave women reserved seats in legislature.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TRT ARBR HRIST 9R9% FEY, Ui ARPRAT BRI INRdlg Mo gweaidRd fawamed faymret e,
RgTefierieh! Pl IRdTT ST HTel el ?

1) =TT YA 9) TS TORST TRAT &) SHH Agqd g) Ui

gl IR :

q) (31), (3) 31 (B) 2) (¥), (H) 3 () 3) (3), (P) 301 (3) ) (3), (9) 30T (3)

HERTE IISTAFRT ARRY a1 gauia At : 3kigrT a g a@as%,/ 8¢
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7)

8)

R)

9)

90)

In the Government of India Act 1919, the functions of Provincial Government were divided into
“Reserved” and “Transferred” subjects. Which of the following were treated as “Reserved” subjects?
a) Administration of Justice b) Local Self-Government

c) Land Revenue d) Police

Answer Options :

1) (a), (b) and (¢) 2) (b), (¢) and (d) 3) (), (c) and (d) 4) (a), (b) and (d)

IRA ARPR PHRIGT, 9R9% I T IR Wlefietieh! PIurd / 3med ?

31) Ui HRIGRT IRGRI I9MMEraT TR

9) ARG Faad AT ATGRIE! 3esd

%) glrgd fAURIE MRIBR TidHT <o

Tt S :

9) (ar) amfor () o R) (31) 3T () 3) (3) smfor (<) 8) (31), (3) 3T ()
Which of the following is/are the principal feature(s) of the Government of India Act, 1919?
a) Introduction of dyarchy in the executive government of the provinces

b) Introduction of separate communal electorates for Muslims

c¢) Devolution of legislative authority by the centre to the provinces

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

ORAT sferTrar Jeuid, ‘st (SR’ a1 awarT Gy IR

q) i faRnieer g TR faure.

R) TN ARPR TGO g AT T TRBRAT URTY.

3) ANIRID QN T IO ; T e ST gEd) g

Q) YiaHT e szt S Sufimed faumft,

In the context of Indian history, the principle of ‘Dyarchy (diarchy)’ refers to
1) Division of the central legislature into two houses.

2) Introduction of double government i.e., Central and State governments.

3) Having two sets of rulers; one in London and another in Delhi.

4) Division of the subjects delegated to the provinces into two categories.

9R3Y T YRT ARBR BRI AU hoied] hexd=qed, @l PR ... T AT 3ATe.

9) el PRICHES Q) TegR SR

3) wida fiftriees 8) e TegeR

In the Federation established by The Government of India Act of 1935, residuary powers were
giventothe.........

1) Federal Legislature 2) Governor General

3) Provincial Legislature 4) Provincial Governors

AR LTI g A Iamelied iR fad=er a1 AeHa feiear aieer smaTRa 3.
9) Aei-fier R, 990 A ?) AlT-TFAHIS PRIGT, %98

3) YRd TPR PIS], 934 8) YR WG DrRIgl, %89

HERTE IISTAFT ARRY a1 qausiar A : 3hkigRy a g 9@,/ 8%



10) The distribution of powers between the Centre and the States in the Indian Constitution is based

)

1)

Q)

2)

3)

3)

on the scheme provided in the
1) Morley-Minto Reforms, 1909 A 2) Montagu-Chelmsford Act, 1919
3) Government of India Act, 1935 4) Indian Independence Act, 1947

?) fAfRer Ioradidier FRIS 9 SRR

RIeic. PRI TeL o

9) GErRAT T Jff-ard fies Hgry

R) IrUifEr o 9 TrIuiNATST ARIT Hfcha

3) fEehd Jwde e CThul

8) AU TR e oAieor

The Rowlatt Act aimed at

1) compulsory economic support to war efforts

2) imprisonment without trial and summary procedures for trial
3) suppression of the Khilafat Movement

4) imposition of restrictions on freedom of the press

3odc AU a1g ... off FefRr g,

9) YRARIHT IR STBIUIRITS! Plat fFeel Ao

Q) YRR HISHEY UHIRIT BIOTRY gadsl 3for J1RTs JreameR e g,

3) PRI AT W=l FEHTT YR SSIUBRITR elfGetell STUTAT Dlgd ol

8) ST dhelcdT ol PIISIRICT godh gedul,

The llbert Bill controversy was related to the ............

1) imposition of certain restrictions to carry arms by the Indians

2) imposition of restrictions on newspapers and magazines published in Indian languages.

3) removal of disqualifications imposed on the Indian magistrate’s with regard to the trial of the
Europeans

4) removal of the duty on imported cotton cloth.

43R T AR faTE BRI IRC! RAG DAl 3T ...

q) ISR I BFFTRIET FTEHR.

R) SiENfiep fdaTg <Iid PRUARATS! FeeATITeA HFHMT STUPR.

3) IR A Ao fafeer =miermr sqe.

Q) ITATIIARUT] IRl JATOT HUTeR s

The Trade Disputes Act of 1929 provided for

1) the participation of workers in the management of industries.

2) arbitrary powers to the management to quell industrial disputes.
3) an intervention by the British Court in the event of a trade dispute.
4) a system of tribunals and a ban on strikes.

HERTY IISTURT ARRY a1 qauRten A : 3fgs a g g@as,/ Yo



4)

4)

5)

&)

6)

AR BRI MGG, TR S STgle el BRI ...
9) 9R9R T HRIUTAT BIHBSIET e TRAIHT Hefta Fepl g

Q) IRIET B UidHEier gaeel (SRISMDI) T PRUIR AR et
3) IRIEE HHIHR Tdhal YRR AT Hegdl.

%) AT DHHIT QT Hrevll gadell,

The people of India agitated against the arrival of Simon Commission because ............

1) Indians never wanted the review of the working of the Act of 1919

2) Simon Commission recommended the abolition of Dyarchy (Diarchy) in the Provinces.
3) there was no Indian member in the Simon Commission.

4) the Simon Commission suggested the partition of the country.

Hfemic Merear dAeuld, Wielerid! Biue UM sRIsR 3178 /37 ?

31) T thexed ARPRT! FRIART e,

9) IS ARAI IR STUPR drgel.

) AGR JMMTHTHAR Afh TRAIAST TRIG bell et

Tt S :

9) (31) weh R)- (@) Hh 3) (31) Mfor () Q= ) (3) foban () St
With reference to cabinet mission, which of the following statements is/are correct?

a) It recommended a federal government.

b) It enlarged the powers of the Indian courts.

¢) It provided for more Indians in the ICS

Select the correct answer using the code given below.
1) (a)only 2) (a)and (b)only 3)(a), (b)and (c) 4)(b) and (c) only

9]0 T Icerk Afichar 2 H BT ?

q) &g AT Ui IRBRIAT SUDPR ST RN .

) HRANIS! 5T AfGarT JMfUBRT! IRAT Dl

3) WER SRR I=ARRY e,

8) YRA FRPR MMM AR I FaY GUROL

The object of the Butler Committee of 1927 was to?

1) Define the jurisdiction of the Central and Provincial Governments.

2) Define the powers of the Secretary of State for India.

3) Impose censorship on national press.

4) Improve the relationship between the Government of India and the Indian States.

fope fRrerreaT TR ey, NaTefieiddh! I faem sRIsR 3mad ?

37) AfRUM I IS g Ui IRiect! doid SR AMFGRIT dhelel Jradia.

) TN ST THPRITRT TR TRIiedT PIVATE! TidTell AT iawardiet fRrdtamed faemef wads
PXIN OXWYT] 3:|'f€|d0N ST

it S
9) (31) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar (3) SErdr At
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8)

)

1)

Q)

With reference to the proposals of Cripps Mission, consider the following statements:

a) The Constituent Assembly would have members nominated by the Provincial Assemblies as
well as the Princely States.

b) Any Province, which is not prepared to accept the new Constitution would have the right to
sign a separate agreement with Britain regarding its future status.

Which of the statements given above is/are correct?

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

IR LHS fohwran AT Hedl GO TeR-GHR sl

q) YRdTe Ut F&ra el arfest

R) W SUATYd! HRAT S s SiTet difgord

3) R AFPeHed AHA el AT JCRIg USIRITD Sard

¥) YR SR oIt &rar

The plan of Sir Stafford Cripps envisaged that after the Second World War

1) India should be granted complete independence

2) India should be partitioned into two before granting independence

3) India should be made a republic with the condition that she will join the Commonwealth
4) India should be given Dominion status

3) fafeer Iadidial 9T @ R

9¢]3 Alell AR faeTH e ST Seeg Q. b It TR ISR AT FATIT DIV I el
g2

q) TS SMth DTN TR IoThR GRS AT ol

?) ffeer =mTerawdd wReaie HaaTTSt AIgH a

3) fafer HRIeT HRARAT ¥R =@l Jord PRUIRNTS!

g) fafesr Tea ufafda yRAaiar Faemret srigie arol

What was the purpose with which Sir William Wedderburn and W. S. Caine had set up the Indian
Parliamentary Committee in 1893 ?

1) To agitate for Indian political reforms in the House of Commons

2) To campaign for the entry of Indians into the Imperial Judiciary

3) To facilitate a discussion on India’s Independence in the British Parliament

4) To agitate for the entry of eminent Indians into the British Parliament

ARATN TATEdepIeld ISTacred PleRgerel fedtd, ' gHam /T8 e 8 ARANde Sl Je
TROITT T Hewaral g gl 89 aoiaqed Gieflaid! PIud ged FETfase 3ied ?

37) cdeTHefter sfeam 3Mifthedel Agd PRuIrTST araRerer fref).

) YRATT dcledr fSfeer wramia wiR nfor Mgt ad= SvarTdt aroRer somRT fFed,

&%) IS IRAETR Jg PROIRATS! aTRetel el

gl IR :

q) (31) 3T (9) Bh Q) (8) NPT () 3) (&) afor () 8) (31), () 3Mfer (@)

HERTY ST ARRY a1 guRien Aralt - 3figRT 9 I8 90as/ 4R
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9)
?)

)

1)

Q)

2)

With reference to the period of colonial rule in India, “Home Charges formed an important part
of drain of wealth from India. Which of the following funds constituted “Home Charges”?

a) Funds used to support the India Office in London.

b) Funds used to pay salaries and pensions of British personnel engaged ‘in India.

c¢) Funds used for waging wars outside India by the British.

Select the correct answer using the codes given below :

Answer Options :

1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

90) JATEYAh HREKiT AHITOTD, UM FURUM g WS

TEATS GHTSTYYRS d eh!
HEATAT AT HXAT g HeeHT

q) HEETE FHISTIURS g bl

RTeHIcTU<hT PIUTAT Y&l FATHT . &Y. 3TR. ATGSHY TT dbell gl ?

1) YRR AdRt MfOT BITR T

) 3IfEeT WRRI ST STl 98

EDRERERSREEE]

gt SR :

9) (31) weh R) (1) amfir (@) &k 3) (31), (F) SO (P) ) () M (F) Feh
Which of the following parties were established by Dr. B. R. Ambedkar?

a) The Peasants and Workers Party of India

b) All India Scheduled Castes Federation

c¢) The Independent Labour Party

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

RgTeAieAtd! PRt TeT Fafa s aseft ?

9) Tt SIS AT IR AT FRITIHT dhe!

R) ey AT Hieteuur ferfeer

3) i TguTeRT I aTHeHs forfeet

¥) AAGATY TR g AR AR HaT qRied JIR< BIoTR gfgel YR 37t

Which among the following events happened earliest?

1) Swami Dayanand established Arya Samaj

2) Dinabandhu Mitra wrote Neeldarpan

3) Bankim Chandra Chattopadhyay wrote Anandmath

4) Satyendranath Tagore became the first Indian to succeed in the Indian Civil Services Examination

HERTE IISTART ARRY a1 qausier A : 3higry a g 9@,/ 43



3)

3)

)

1)

Q)

2)

3)

AR TG AGHIA, A¢¢y T IEHIETS TeRuTHIad! e

q) Afger™T fremr Haauamr PR

Q) HHd 97

3) daTge geard! g

gt SR :

9) eh 9 30T 2 R) R 3T 3 Heh 3) 9 3T 3 ek ¥) 9,2 3oy 3
In the context of Indian history, the Rakhmabai case of 1884 revolved around:

1) women'’s right to gain education

2) age of consent

3) restitution of conjugal rights

Answer Options :
1) 1 and 2 only 2) 2 and 3 only 3) 1 and 3 only 4)1,2and 3

?) HEETT Ao AT g WaeHl
STET FHTSTETEd Wiefleldn!l DI fIer sRIeR 31e /31 ?

o) TRIgSIE Ry el
) urfifer gy 31} AEUIRIS! QRifed Gl TR ATbRat,

P) I3 37D ST & RIGIT UM AP e,

Tt SR :

9) (1) ST () ek - ) (1) AT () 3) (@) ST () 8) (81), (3) amfor ()
Which of the following statements is/are correct regarding Brahmo Sama;j?

a) It opposed idolatry.

b) It denied the need for a priestly class for interpreting the religious texts,

c¢) It popularized the doctrine that the Vedas are infallible.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

q) fagrmeier snfeardiicar ST Jowdw R) TORIGHE HfeR-HaeT JAgIer
3) TERERIS SR T 8) USRI ARt Qe

Satya Shodhak Samaj organized

1) a movement for upliftment of tribals in Bihar
2) a temple-entry movement in Gujarat

3) an anti-caste movement in Maharashtra

4) a peasant movement in Punjab

Wlettoldeh! PIUT FEAAT AN haede A Jeford 3med ?
37) HeAD Thararg! A
) TN fSRReFET g

®) sfead R sRARyueE
it S
) (31) Heh Q) (31) for (3) e 3) (31), (3) 30 () ¥) (F) 30T (B) Feh
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4)

9)
?)
3)

)

Keshab Chandra Sen is associated with the establishment of which of the following?

a) Calcutta Unitarian Committee

b) Tabernacle of New Dispensation

¢) Indian Reform Association

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

YR TG Tt HTe PIheed! FATIHT STelt. e FHfid BRor /1 g ?

q) I U fafdy AT URUT e a1 FaeA b A HicaT faren e a4t
PROGTATS! 30T IRPRAT AT ATfRIepT /UfIHeft TIR PRUIRITS Tepa IAT TIR e

R) RGN IMET PRI MU TIRHLFA HHIND JURUTET G PRITET gl AT 37em
SeTRITC! T AT FATI PRuITE R Eice.

3) SRS AIRT ST TS, IS T Q@ Tel d FHISTGURU T UehT HeRATel Uehsl STT0TodTT
fyofar e,

g) a1 Heuld &R feeter faem (9), () 31T (3) ITUHT BIoE U™ sRIeR =g

During Indian freedom struggle, the National Social Conference was formed. What was the reason

for its formation?

1) Different social reform groups or organizations of Bengal region united to form a single body
to discuss the issues of larger interest and to prepare appropriate petitions/repre-sentations to
the government

2) Indian National Congress did not want to include social reforms in its deliberations and decided
to form a separate body for such a purpose

3) Behramji Malabari and M. G. Ranade decided to bring together all the social reform groups of
the country under one organization

4) None of the statements (1), (2) and (3) given above is correct in this context

qq) fafeer YRaTde forator, gaux Snfor orkas

fafesr yRaTier frevreraen
faifeer wRaTd e gausen fasm
fafesr Frarier Aifge 3o @

q) fafeer YR foramrera=zen

eIl PHATHD TRATT SHoTt I & el ?

3T) g BRI 9¢93

) AT~ AT HAH Hfe

P) UrAfcearg I UfeiRRe arg

gl IR :

q) (1) 3mfor (3) b 2) (31) 3T () 3) () afor () 8) (31), (9) 3T (@)
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?)

2)

3)

3)

8)

4)

Which of the following led to the introduction of English Education in India?
a) Charter Act of 1813

b) General Committee of Public Instruction

¢) Orientalist and Anglicist Controversy

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
AR STacrea Piera &0 AT FeHid Wietiatih! PIurd Siet/SiiedT aRIaR SJeselt /T
3T/ 3l 2 _
ARAT ARIIEH
31) AP TR TR Vefiet oo™ S
q) Pelpal HERT anT giet
P) B faeaq amR JTEeT pleiof
IR SR :
q) (d) &b R) () anfer () 3) (ar) 3for (@) 8) (31), (9) 3T (@)

With the reference to educational institutions during rule in India which of the pairs given below
1s/are correctly matched?

Institution Founder
a) Sanskrit College William Jones at Banaras
b) Calcutta Madras Warren Hastings
c¢) Fort William Arthur Wellesley College
Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

g0 fov ST9d, Wielierih! PIvR g /3 sRIeR 3R /3ed ?

3) Fic 37 TS HUlTell g PRUATT 3Tl

¥) faemdiorar < AR @RvaTd 3MTefl Bt

%) freromeaT He FRIGR e weg WU SUSid) RIBRY SRUATd SAet g,

it S :

q) (31) Th R) (an) emfvr (3) wh  3) (1), (3) M7 () ) (%) 3”0 (&) b
Regarding Wood’s Dispatch, which of the following statements are true?

a) Grants-in-Aid system was introduced.

b) Establishment of universities was recommended.

c¢) English as a medium of instruction at all levels of education was recommended.
Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

Wefierdh ol ehl fig Bt e afa mum wrivd gidt, o= o fenes e St ferer g
3ilesget el ?

q) 3t Ssic R) QG TR 3) SEREg PR @) WRICH A1g

Who among the following was associated as Secretary with Hindu Female School which later
came to be known as Bethune Female School?

1) Annie Besant 2) Debendranath Tagore

3) Ishwar Chandra Vidyasagar 4) Sarojini Naidu

HERTE IISTAFT ARRY a1 qausiar A : 3kgRT a g 9@,/ 4§
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1)

)

1)

Q)

2)

3)

3)

?) fifeer uRariter gauzren s

SRYRI NP A& Vekh U STAUIR Ufgel ATRID fegeiel—fdeaer It HepTiard del 2.

q) MU €T JePR R) AT Fet 3) AigdeNT porag et 8) HiERTE ST e
The Vital-Vidhvansak, the first monthly journal to have the untouchable people as its target audience
was published by

1) Gopal Baba Walangkar 2) Jyotiba Phule

3) Mohandas Karamchand Gandhi 4) Bhimrao Ramji Ambedkar

3) fafeyr e Afg nfor s

TIRTCHT el FEuITet Y, '3 ot dee ' ATaTe YRiehTdl T el Axdlel Sl fifsifad e sRgd
I QRIS T STia dectel. HEIHT M HRITIEIC SRV G PRI Fedl e el giar?
q) SN 3MfOT TR IR Ul g GRIRT Ao Afiies SeegRt 3

Q) ThIAT HeITad FafAT Yol AHdeie 3R

3) IR SaTaTd! SRRy JMfoT JMeATfAND AT MTTTD 31

8) IrFeHTcE Fd faum (9), () 07 (3) RISR 37T

Mahatma Gandhi said that some of his deepest convictions were reflected in a book titled, “Unto
this Last” and the book transformed his life. What was the message from the book that transformed
Mahatma Gandhi?

1) Uplifting the oppressed and poor is the moral responsibility of an educated man

2) The good of individual is contained in the good of all

3) The life of celibacy and spiritual pursuit are essential for a noble life

4) All the statements (a), (b) and (c¢) are correct in this context

g #9 g g 3hfIC Frardr gepara 3fleter foEue arear aRAeR SUTRG 38 -

q) TH. IHSH Q) TH. TGITR 3) .G, 9] g) At & o
A recent movie titled The Man Who Knew Infinity is based on the biography of -
1) S. Ramanujan 2)S.Chandrasekhar  3) S. N. Bose 4)C.V.Raman

TGRS IR AT A felfgeied] GIR T AT YRABIeA] e, Wletierde! PIurd
faUT /7 SRR 3712/ ?

37) IATEIATG! AT FHIEAH HAIR oo fHesauarn $eRT faa.

9) G vt g 3nf A i TeeHTeT IR feet,

P) ISR potell ‘22 &1 auTer Yoo fAfde ey g

gt SR :

9) Wheh 37 3MUT § ) § 3701 & heh 3) 37 3701 P Heh g) o, § 3 &

With reference to the book “Desher Katha” written by Sakharam Ganesh Deuskar during the
freedom struggle, which of the following statements are correct?

a) It warned against the Colonial State hypnotic conquest of the mind.

b) It inspired the performance of swadeshi street plays and folk songs.

c) The use of ‘desh’ by Deuskar was in the specific context of the region of Bengal.

Answer Options :

1) 1 and 2 only 2) 2 and 3 only 3) 1 and 3 only 4)1,2and 3
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1)

31T TRt Aerug AT Ryl Tl Wiefletidh! Piur e sRIsR 38 ?

9) 7 fIproft el @wmz o Jefier foRwT ryeasTh 5= dhef.

R) ugrH! HaRTRAT I YYT Y USATAT YRA BIS! NI - .

3) a1 ot gAY SRR I YRR AT STGTHeYT SUSiid HINIaR b

8) HeH Selfcgeeh! 3TN dricT Sichic T HeH I Ryaiiaifthere ARIIC IR TATY e,

With reference to Madanapalle of Andhra Pradesh, which one of the following statements is
correct?

1) Pingali Venkayya designed the tricolour Indian National Flag here.

2) Pattabhi Sitaramaiah led the Quit India Movement of Andhra region from here.

3) Rabindranath Tagore translated the National Anthem from Bengali to English here.

4) Madame Blavatsky and Colonel Olcott set up headquarters of Theosophical Society first here.

Ui AReitg enfifes M Sl TINiaR Srfele i i fier’ off wrefiertihr wromar ey omg ?
9) 915 MR fedd ) SRR g%

3) AECN HREag Ml 8) TRIHT TG

Who among the following is associated with ‘Songs from Prison’, a translation of ancient Indian
religious lyrics in English?

1) Bal Gangadhar Tilak 2) Jawaharlal Nehru

3) Mohandas Karamchand Gandhi 4) Sarojini Naidu

93) YR IS 3¢, PRRT SO Tgwrd

RTFATE STTO1 ITSTh I AESATAT 35T
PRI U&7 — GRATP, AN, 1
e ISThIg A

q) MFATE IMOr ISTHT FISHAT 3

AT PO Sl /e SRISR S[belt /T TR/ 3Med ?

31) MRt <8 - ey $feae srARmerT ufgel sreae

) T EHIRY, T ~ HGR HEo Y ARy

) e FoM — T SRR FeTIh

gt SR :

9) (31) SMfor (3) Hh ) () AT () 3) (@) for () 8) (31), (3) amfor ()
Which of the pairs given below is/are correctly matched?

a) Radhakanta Deb — First President of the British Indian Association

b) Gazulu Lakshminarasu Chetty — Founder of the Madras Mahajana Sabha

c¢) Surendranath Banerjee — Founder of the Indian Association

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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3)

930 &Y WalleTdeh! DIV 1T TG FaRIST AT 3R 3aet ?

q) 3ifat 3 8\ e Q) feg merr

3) <fémr yRART foreReT theve ¥) YRR FHI Jadh

In 1920, which of the following changed its name to “Swarajya Sabha”?

1) All India Home Rule League 2) Hindu Mahasabha

3) South Indian Liberal Federation 4) The Servants of Indian Society

?) HRRT U4 — WIS, JRQAIM, IR_E

R0 HE TRA I AR IET PR T ISUITE G PRI BRI 8l ?

q) dfe el I YRR ISTBRONG STcigarerar uRag

R) fcier IRepReft arcrandt wxvgrer RuLRIAT R StfcRadrET %@ 790

3) g™ offirer g

) SRfIG Oy Tl AR ET HHTT egeus Fas guar SR

What was the main reason for the split in the Indian National Congress at Surat in 19077

1) Introduction of communalism into Indian politics by Lord Minto

2) Extremists’ lack of faith in the capacity of the moderates to negotiate with the British
Government

3) Foundation of Muslim League

4) Aurobindo Ghosh’s inability to be elected as the President of the Indian National Congress

Glefiefdehl PIur e /= sRIeR 313/ 37Ted ?

37) YRR RMERT PRI igedT dfeel sreen JRINFT T, 2.

) YR TET BT gl GRem 3reTs gSoar dagstt g

Tt S :

9) (31) weh R) (@) wH 3) I (30) <mfor (9) ) (3) fobar () e T
Consider the following statements :

a) The first woman President of the Indian National Congress was Sarojini Naidu.

b) The first Muslim President of the Indian National Congress was BadruddinTyabji

Which of the statements given above is/are correct?
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

YR JIET PERT TTER fR@er (9%3%) & SRERI QU Fewrd 3R, DR ..............

37) DA Ul FATTT AR FRORT SR FHd el

¥) rferehl 3for RAURft Il AaNe 1 JIR[IAT HAsquard 3ol

%) T ARELAT fRTE RIGId ATBRURT SR1G HoR PRI 3Tl

gt IR :

q) (1) wh R) () amfor (9) ok 3) (31), (3) 3N (P) ) AR B A&
The Lahore Session of the Indian National Congress (1929) is very important in history, because......
a) the Congress passed a resolution demanding complete independence

b) the rift between the extremists and moderates was resolved in that Session

c¢) aresolution was passed rejecting the two-nation theory in that Session

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) None of the above

HERTE IISTUT ARRY a1 qausier A : 3kgrt a g a@as,/ 4’
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6)

NRART TERT HIA 9]R T I =T Tassidl SigrId Hgwmd 3le BR ...........
q) TR TTH 2 P Sfe¥ U GIfyd PRI 3TTel.

R) gt R fisaur © died 2 g

3) IIEPR Tobdes Fo Flcl.

) deTefieT Mot aRved FTeumft gugmer i guara 3ie,

The 1929 Session of Indian National Congress is of significance in the history of the Freedom
Movement because the .........

1) attainment of Self-Government was declared as the objective of the Congress.

2) attainment of Poorna Swaraj was adopted as the goal of the Congress

3) Non-Cooperation Movement was launched.

4) decision to participate in the Round Table Conference in the London was taken.

RR3IR AW (YR IuEeNNe I &I difePh TSHD) ... e A WidHed B HiEesi
RIS e,

9) PRI SR IR Wil HUe §=adm 3fell A

R) DI ST [RIRNT IS HATCRIT PHEDIST LG FTel.

3) T VI HIST FHIOMER AETRieh Qe it

8) @R et e (), () 3N (3) Yeht PIoRigl SRR ATR!

The Congress ministries resigned in the seven provinces in 1939, because (of three main racial
groups of the Indian subcontinent ...........

1) the Congress could not form ministries in the other four provinces

2) emergence of a left wing’ in the Congress made the working of the ministries impossible

3) there were widespread communal disturbances in their provinces

4) None of the statements (1), (2) and (3) given above is correct

PINT FHTSAIG] TeITeAT AT, Wiefiefdd! v faEm /= sRIsR 318/ 3Med ?
37) foicieT aReR IfESPR Tl 37T R Feplavard FHUT e,

q) T FIERT T gHAATE IR et gt

P) IS IO TR SHNATST T HAGRT dfdbetl bl

qgift S
9) (31) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar (3) SErdr At

With reference to Congress Socialist Party, which of the following statements are correct?
a) It advocated the boycott of British goods and evasion of taxes.

b) It wanted to establish the dictatorship of proletariat.

c¢) It advocated separate electorate for minorities and oppressed classes.

Answer Options :

1) (a)and (b) only 2) (c) only 3) (a), (b) and (c¢) 4) None of these
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3)

4)

3) g ISTH Ad

QTS AR I IR I TodeiKTet felel Hatd THTdt IRGH FgUST O ...
31) facient YRar anfdies nwor det

q) U R FUTET 31ef A ST ARITET SH{ISEN TRiaid el

&) IR PIUATE MEYAT T AHTIND SSHTd JATC HRuITAT TRolaR R e

gt SR :

q) (@) ST () Hh ) (31), () M (F) 3) (3F) Fh 8) (37) Mo ()
The most effective contribution made by Dadabhai Naoroji to the cause of Indian National
Movement was thathe..............

a) exposed the economic exploitation of India by the British

b) interpreted the ancient Indian texts and restored the self-confidence of Indians

c) stressed the need for eradication of all the social evils before anything else

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (a) only 4) (a) and (¢)

3t Jgic I1ad WielieTdd! PIur faem sRIeR 31/ 3med ?

SRR IR g,

37) BHRCT Tobdod G PRUIRATS!

¥) fredifthere ARIRICH TRAUTUDH

&) Thal AR TERT PrRTea] 37ede]

Tt W :

q) (1) ST (3) B - ) () T () 3) (@) swfor () 8) (81), (3) anfor ()
Which of the following statement is/are correct regarding Annie Besant ?

Annie Besant was ............

a) responsible for starting the Home Rule Movement.

b) the founder of the Theosophical Society.

c) once the President of the Indian National Congress.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

GTeAlelieh! PIvT WRATdel aATeqarer e Fefteren /THiers g /8l ?

31) TS AR q) MR SRR F) 3. d

gTeiiel PIS ATTwT AR IR ST,

q) (31) omfor (@) weh ) (3N), () AT (B) 3) () MM () 8) (ar) 3mfor ()
Who of the following was/were economic critic/critics of colonialism in India?

a) DadabhaiNaoroji b) Subramanialyer ¢) C. Dutt

Select the correct answer using the code given below.

1) (a)and (b) only 2) (a), (b) and (c) 3) (b) and (c) 4) (a) and (¢)

i #ierR, TRaTee!, foarstt anfor sft gesor Al ARA ffeeht; Pret P smRdd Afer; STfor wegadt
SRiehTel Fraget armel. af g

q) IRfER Gy R) fafteeg dret 3) A SO T 8) AT g

He wrote biographies of Mazzini, Garibaldi, Shivaji and Shri Krishna; stayed in America for some
time; and was also elected to the Central Assembly. He was

1) Aurobindo Ghosh ~ 2) Bipin Chandra Pal ~ 3) Lala Lajpat Rai 4) Motilal Nehru
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93) SPIIPRBIET TS, ATDRI MO HRFIR TSB!
ShIfiIPIRe WS g FATq
ST SrTeTer aTTfor gt g
HTTR TSB! JTION HTFIR HEeHT
q) shifcIepRep HWEISHT g IFAIG
9Q T eI WRATNS 3TfCaRA ISTIRT ATLIROIU! WTefleTieh! DIUIT Bceh HRUTT BIT ?
q) SHIT T ST SR SCUTGHIR @R STBRUNE! T JUTTel! %o HROT
R) iR e wRaelt wnfifes o= aHE
3) SMfSaR |G ALY U AEDR, IR MO Hegel! Sad<t Ao @ algel.
g) STfCart ST =T Hiuueitar guf i
Which amongst the following provided a common factor for tribal insurrection in India in the
19th century ?.
1) Introduction of a new system of land revenue and taxation of tribal products
2) Influence of foreign religious missionaries in tribal areas
3) Rise of a large number of money lenders, traders and revenue farmers as middlemen in tribal
areas
4) The complete disruption of the old agrarian order of the tribal communities

HUTl IS IHIFR, JATEA! ARBRT DU SR /IURT hel /B 2
31) ‘HATA U AR Weel fRHr dhel et
¥) HATAN IR—FATAT STHIF SRS RO ShRISR SR,

Tt S :

q) (1) wh ?) () wh 3) (1) amfor () St ) (3) ot () et =T
After the Santhal Uprising subsided, what was/were the measure/measures taken by the colonial
government?

a) The territories called ‘Santhal Paraganas’ were created.
b) It became illegal for a Santhal to transfer land to a non-Santhal.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
HRaATAT SRIERITT HeHid, Seiler fdhar I eHee § Wiefieldd! PIuT Te-id au 31g ?

9) 9¢Y9 I §8 ?) 989 T HfYel §8

3) 9¢YR - o I S §s 8) fo=am ge1 I/ 9¢’]-9%00 T §8

With reference to the history of India, “Ulgulan” or the Great Tumult is the description of which
of the following events?

1) The Revolt of 1857 2) The Mappila rebellion of 1921

3) The Indigo revolt of 1859 — 60 4) Birsa Munda’s revolt of 1899-1900

RgTeferieh! PIoT T TR veneft wfhagor et 8 ?

37) IREPAR a g) SN T Tl P) NIRRT T

Tt SR

q) (31) 3nfor () Q) (3) Bh 3) (31) 3nfor () 8) (P) Bh
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Who of the following freedom fighters was/were actively associated with the Ghadar Party?
a) Barindra Kumar Ghosh
b) Jogesh Chandra Chatterjee

¢) Rash Behari Bose

Answer Options :

1) (a) and (b) 2) (b) only 3) (a) and (¢) 4) (c) only
TeR (TER) & o, 2.

9) T HIED Y JRATET IRTeielt AR ShifcrepR] FeeHT.,

R) RFMRHYT PRRA IIgarg) Fee.

3) S IV JRIET SRelel AR FeeHl.,

g) Ahe AU TEITHIRIE HRATAT ARG RFRE Toac.

The Ghadr (Ghadar) wasa.............

1) revolutionary association of Indians with headquarters at San Francisco.
2) nationalist organisation operating from Singapore.

3) militant organisation with headquarter at Berlin.

4) communist movement for India’s freedom with headquarters at Tashkent.

ATEADICH ARATAT HSHI e W, YHPAR T ST IReer I Rig it 3o ........

TEU el S,
9) el MM IfFHR ST d Q) IR8E A IART IRPRY AT
3) Sfum |ANdie Ter A e g) omeTe fie JAa SIfImRY

In the context of Colonial India, Shah Nawaz Khan, Prem Kumar Sehgal and Gurbaksh Singh
Dhillon are remembered as .......

1) Leaders of Swadeshi and Boycott Movement

2) Members of the Interim Government in 1946

3) Members of the Drafting Committee in the Constituent Asembly

4) Officers of the Indian National Army

3) ST SicterT SfOr ot erRom

SIS HIRAT Teliedeh! BTl FodTd et ?

37) SR FaRed SMOT fUeprea Turaier STUTRA STHIM Hegerrd Jedieh

) gEa fOhRaT amrm aTmR

) R 30T olleT FEReT= olhrae

gt SR :

q) (1) wh R) (31) 3mfor (3) B 3) (3) M () 8) PIEET AT
Which of the following was/were introduced into India by the English?

a) Assessment of land revenue on the basis of nature of the soil and the quality of crops
b) Use of mobile cannons in warfare

¢) Cultivation of tobacco and red chillies

Answer Options :
1) (a) only 2) (a) and (b) only 3) (b) and (c) 4) None
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99R3 |l TS PIalfeRTdl STHIT ATeTHe RIFTH Jo SR S Weedd! AT aiget. ITe HRl

q) AT JeTidl SR R A vl

Q) ¥ Ifear dulen SHiASRMET FRTdt I a0

3) IRIIGRT fIh HRISH §aul

8) @it (9), (R) MM (3) HY DIt Treh

The tendency for increased litigation was visible after the introduction of the land settlement
system of Lord Cornwallis in 1793. The reason for this is normally traced to which of the following
provisions ?

1) Making Zamindar’s position stronger vis-a-vis the ryot

2) Making East India Company an overlord of Zamindars

3) Making judicial system more efficient
4) None of the (1), (2) and (3) above

focter IaEia ARAME IR ACaHe 3 PR Wieficih! PIomeT Fe giar/ 2 ?

) S PHaerd ) Ireiaeiiex ds ) AT TR

Tt S :

1) (@) 3T (F) ek  R) (), (F) MO (F) 3) () FH 8) (31) 3T ()

Who among the following was/were associated with the introduction of Ryotwari Settlement in
India during the British rule?

a) Lord Cornwallis b) Alexander Read ¢) Thomas Munro

Answer Options :
1) (b) and (c¢) only 2) (a), (b) and (¢) 3) (c) only 4)(a) and (c)

IAAR Heemeea HeHfd, Wielietdhl PIv fIum SRR 31/ 3Tmed ?

31) e AqHIH! A TRPRa o,

) IRPRA el Ug .

&) PR ABRUITYE! ST Fa0T 3T Hedieh PR 3ol

Tt S :

9) (31) Hh ?) (1) 3Mfor () &k 3) (31), () 3T (B) %) () M (&) Fch
With reference to Ryotwari Settlement, which of the statements given below is/are correct?
a) The rent was paid directly by the peasants to the Government.

b) The Government gave Pattas to the Ryots.

c¢) The lands were surveyed and assessed before being taxed.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

R0 T BT FHA HRAT A ! drae HHT Sl BRur
9) NS RO ST aa-Tel Adem=ardT UiddbR

R) A QMU ST SSTRUC Tet Tl ATgt

3) e mEEien IET AT Ry

¥) TANTES PRUMTER ARBRT FRI=07
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Indigo cultivation in India declined by the beginning of the 20th century because of
1) Peasant resistance to the oppressive conduct of planters

2) Its unprofitability in the world market because of new inventions

3) National leaders’ opposition to the cultivation of indigo

4) Government control over the planters

TgTeT M Weadlier Aqeared Io AR FRUIT HROT BRI B ?

37) GPIos AR VTR ST Aeqel axgetien S faaft =,

) TR ORGSR BRIFRERU! Heatc g PRl IRdTa faa.

Tt S :

9) (31) Hh ) @) Hh3) (@) () AR ) (3N) fobar () I

What was the reason for Mahatma Gandhi to organize a satyagraha on behalf of the peasants of
Kheda ?

a) The Administration did not suspend the land revenue collection in spite of a drought.

b) The Administration proposed to introduce Permanent Settlement in Gujarat.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

iemeiiel QU e Sfieier Tl JFOf ... ATt greft.

9) STHIFCRET 2T fUeprean sreat HETeas U gaier gdd dHt o,

Q) ATHIAT AT ATAD! 85 USH IR0l HRUT I SAEHIT aRdfdd Adest aid
3) SHMGR! SavT FHe IS AT [AFARET 3id

¥) e ATPNT ot HTH PR

The demand for the Tebhaga Peasant Movement in Bengal was for ............

1) the reduction of the share of the landlords from one-half of the crop to one-third.

2) the grant of ownership of land to peasants as they were the actual cultivators of the land
3) the uprooting of Zamindari system and the end of serfdom

4) writing off all peasant debts.

Wlefieidh! PIordt SISl /STieeT sRISR Sfesett /T Mg/ 38 ?

IS HEHAT AT
31) 31t YR SR faRiedt effr T ieht
9) e IR fpaT T RH AT Rt
) Heh-Reae e 3., YR AR
i IR :
9) (@) wH ?) (@) Sfor () 3) (a1) smfor (3) 8) (31), (3) amfor ()
Which of the pairs given below is/are correctly matched ?
Movement/Organization Leader
a) All India Anti-Untouchability League Mahatma Gandhi
b) All India Kisan Sabha Swami Sahajanand Saraswati
c) Self-Respect Movement E. V. Ramaswami Naicker
Answer Options :
1) (b)only 2) (b) and (¢) 3) (a) and (b) 4) (a), (b) and (¢)
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A ARAT e STHIA GUROTAT FeHid Wiefiefieh! PIurd e sRIeR 318 ?

q) AT HATET BRIG € PigSd Qs awrc! g Mor dafhed BfeSTTdt Fegd.

Q) S GURUTT T IfE W YEEHFT Aot Sueted T U € Bl

3) IraT yRomT ST THRa YR FeUd AT fUehid STnTae oAt ST,

8) ST GURUAT HHTel FIfeudd Piorial g el g,

With reference to land reforms in independent India, which one of the following statements is
correct?

1) The ceiling "laws were aimed at family holdings and not individual holdings.

2) The major aim of land reforms was providing agricultural land to all the landless.
3) It resulted in cultivation of cash crops as a predominant form of cultivation.

4) Land reforms permitted no exemptions to the ceiling limits.

3) PR Tdd! 0T PRRTR FHSHAT

Tefierdeh! PIuT e /= SRISR 37Te / 37Ted ?

31) HREHT PRSI, 9¢¢9 N FHTRE da= Hfead FRoTTSt 3MfoT HFERIRFET PHTR HeeT
MO PRUI WRATTIT SUIATATS! FH PRUAT ST,

¥) TH. oligs g faciel YRAKi el TR dobdedid Hec eRulR 3l 8.

it S :

q) (3) wh ?) () T 3) QY (81) MM () ) (3) ol () et T

Consider the following statements:

a) The Factories Act, 1881 was passed with.-a view to fix the wages of industrial workers and to
allow the workers to form trade unions.

b) M. Lokhande was a pioneer in organizing the labour movement in British India.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

R TR TGl HeHid, Welletdehl PIvrcl SISt/ Sear SRR Sobell /T 37Te /3R ?

e T IRNfoTT
37) IR TS TR FY, 37ee], 3iiet Sfedr foTeret thever
) . . fFrensh qeHy, °ch
%) &Y. Seft IR, HRgfRe drci 3ifth Sfean
gl I :
q) (31) &b R) (8n) 3y (9) Beh  3) (31), (§) M0 () ) (3) NPT () Beh

With reference to Indian National Movement, which of the pairs given below is/are correctly
matched ?

Person Position held
a) SirTej Bahadur Sapru President, All India Liberal Federation
b) K. C.Neogy Member, The ConstituentAssembly
c) C.Joshi General Secretary, Communist Party ofIndia
Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
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RY¢ HL TYT Fleied fig oIy AHT I ALATYDH WletleTdeh! PIor gl ?
q) foheem fUgs, E.M.S. Fqfesiurg anfor . &t st

Q) SIIYDBI ARV, SIS ST 30T TH. T, 1Y

3) Ol IHREHIRR, . PHERRT AT IR dde]

®) 3Tl Wgdl, <., Mg 37for S, dgdm

Who among the following were the founders of the “Hind Mazdoor Sabha” established in 1948
1) Krislum Pillai, E.M.S. Namboodiripad and K.C. George

2) Jayaprakash Narayan, Deen Dayal Upadhyay and M.N. Roy

3) P. Ramaswamylyer, K. Kamaraj and VeeresalingamPantulu

4) Ashok Mehta, T.S. Ramanulam and G.G. Mehta

9%) W T — Weglt, IRTEANT, HRICHT, YR BIS]

AT Al desasst (3304-9%20)
IEPR IBda (930-3)

AT PRICHT a5 (9330-3%)
Jafthes AamIg (9%80)

AT gbaes (9R¥I-¥Y)

RIS IBawIiier Afgeral AU (9330-)
AATT I STAr=AT Tasaost (9339-)

q) GHAKIT Ald Fae! (9304-9%30)
WTeAcTih! PIVAT TRADBHS TRAT IFRT BRRTHEN Ge Ugd Hegd’ I ‘IR’ Ieam aimeft 2
9) Tt Tvde ) YR BIS! Qe 3) IEPR A 8) I BPRICHT 3Migier

Which one of the following movements has contributed to a split in the Indian National Congress
resulting in emergence of ‘moderates’ and ‘extremists’?

1) Swadeshi Movement 2) Quit India Movement

3) Non-Cooperation Movement 4) Civil Disobedient Movement

weeft Tsacdte Heuld Wiefietdd! PIvr fIer /3 sRIsR 31/ 3ed ?

37) et PRAMR DT T IJUAAT FAOSAGTRT EIAHR ATl

) R foreror giRecel TRTAT Weelt Iacdtdr e | FgU RUdTd 3T,

it S :

q) (31) Hh ?) (¥) wh 3) QA (an) omfdr (9) ) Qe (@) fobert (9) T
With reference to Swadeshi Movement, which of the statements given below is/are correct?

a) It contributed to the revival of the indigenous artisan crafts and industries.

b) The National Council of Education was established as a part of Swadeshi Movement.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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3)

3)

8)

4)

)

1)

)

1)

Tt ST ‘IfESPR’ a1 FEwieT et U uftedial WeReT e,

9) ST HiesufiRT R 3ficie Q) w3

3) IMNIEPR 3N ¥) IRE S URd We

The ‘Swadeshi’ and ‘Boycott” were adopted as methods of struggle for the first time during the
1) agitation against the Partition of Bengal 2) Home Rule Movement

3) Non-Cooperation Movement 4) visit of the Simon Commission to India

Tefiedeh! PO TIRYT AW AR Fgaral U] Mg ?

9) T esdedld gehiet, faermeif anfor Afgetrr Aichy ifde WRdT Hgwm

R) IET Twdeld ARl Gfofd 3MTOr SAMfardt FHSRITET Hicha FEHH

3) YRATAT MERT TBaedia At Jferdad Al gror

¥) TS fid 3nfor TR fepiear emEsid ks ge

Which one of the following is a very significant aspect of the Champaran Satyagraha?

1) Active all-India participation of lawyers, students and women in the National Movement
2) Active involvement of Dalit and Tribal communities of India in the National Movement
3) Joining of peasant unrest to India’s National Movement

4) Drastic decrease in the cultivation of plantation crops and commercial crops

) IMEPR Tvdsd (9%30-32)

o TR JFewTd, ATeHed PR Rer SRR ST/ ?

31) ole BRIE ‘SegE AT RhRefiar smenRa g,

) JJoic TR M gFReet o TaT amoR RO YT dhell

®) AREA BT R e Jele AAWRERERT et

it S

q) (1) ST () B ) () AT () 3) (@) T () 8) (31), (&) smfor ()
With reference to Rowlatt Satyagraha, which of the following statements is/are correct?

a) The Rowlatt Act was based on the recommendations of the ‘Sedition Committee’

b) In Rowlatt Satyagraha Gandhiji tried to use the Home Rule League

¢) Demonstrations against the Simon Commission coincided with the Rowlatt Satyagraha

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

3) OfITI PRICHT I (9R30-38)
T 9%30 HeA o/ PRI ASTIIS @lefietdd! Hiuft doiR fhar=ameaR At Piget ?

q) @30 ReeRy fUgs R) Al STETERY

3) . BERN ¥) 3 dgic

Who of the following organized a march on the Tanjore coast to break the Salt Law in April 1930?
1) V.O Chidambaram Pillai 2) C. Rajagopalachari

3) K. Kamaraj 4) Annie Besant
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Q)

2)

3)

3)

8)

4)

e - PRI Wiefielueh! IO FHTAL BT ?

31) Moo uReed FeaTll JIvIRIS! wiRTer T

) AT PRISHT Tsacial AgHid SIRI dhetel STEATQeT AR 07

%) UlforaTeaT STfispHuTAT AlbelATSt Ml e WiebRo

) SR fEAMERET SRIY AT 31T herdra g

gt SR :

9) %eh 31 Q) 3, FAM S Hh 3) P Beh ¥) §, & A & Heh
The Gandhi-Irwin Pact included which of the following?

a) Invitation to Congress to participate in the Round Table Conference

b) Withdrawal of Ordinances promulgated in connection with the Civil Disobedience Movement
c¢) Acceptance of Gandhi’s suggestion for enquiry into police excesses

d) Release of only those prisoners who were not charged with violence

Answer Options :

1) aonly 2)a,bandd only 3) c only 4)b, cand d only

TETCHT T 9]32 HEY STFRUT IJUINUT dhel, T T BRI

9) TS IREG R ST 3MMepie ul HRudTd 3Teft ot

3) FERT ST TR e HeE A

3) W HpsHIee T HRe TRPR STER el

8) AT AeHid &R feelel fAum (9), () Mf0r (3) JH! PRI UM RIS ATel
Mahatma Gandhi undertook fast unto death in 1932, mainly because

1) Round Table Conference failed to satisfy Indian political aspirations

2) Congress and Muslim League had differences of opinion .

3) Ramsay Macdonald announced the Communal Award

4) None of the statements (1), (2) and (3) given above is correct in this context

TRl 3T aiTediear oadear Tewid, Wefiefidt P R /< SR 3R /3 ?

37) HEIHT MU ‘398 oleR’ A FaweT € FROATT Hgwrd! YHepT SeTdet gl

) dle TFABISAT ‘AR DI HR HElHl Ml AEIGRIST AR HReAl xudTea] SRIaTe
arfde feetr e,

&) ARAR ST ST BRIGT Aleede TR TR PRI qTedars; I+l epriqeR arfyd
el

i SR :

9) (ar) Smfor () o ) (31) 3T () 3) (@) snfor () 8) (31), (3) 3T ()

With reference to the British colonial rule in India, which of the statements given below is/are

correct?

a) Mahatma Gandhi was instrumental in the abolition of the system of ‘indentured labour’.

b) InLord Chelmsford’s ‘War Conference’, Mahatma Gandhi did not support the resolution on
recruiting Indians for World War.

c) Consequent upon the breaking of Salt Law by Indian people, the Indian National Congress was
declared illegal by the colonial rulers.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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1)

Q)

2)

3)

3)

8)

4)

¥) Jafthes AAWE (9]80)

4) TSI Toas (9383-8Y)
9R%2 T UR B! Ao EEd Wieileldehl plufd fARYemr &R A1gt?

q) & TP AP Tdes gl Q) TN e HereAT el el gl

3) & U Il dedes gt ) ISR HFRIR T o SThSd el ATal
Which one of the following observations is not true about the Quit India Movement of 19427
1) It was a non-violent movement 2) It was led by Mahatma Gandhi

3) It was a spontaneous movement 4) It did not attract the labour class in general

WA SiOERITCel ¢ SRE 9982 =T HeHTd Wiefleftch! iU U SRR 3118 ?

9) YRT B! &g AICC 7 WipRa,

Q) BRERITAT PRIGRI IRYSET IR FHo MDD TRATITET FHIGLT PRI ST,

3) TG A PRRFAT ARG i e,

8) SR HEgE AUCIFQR fheae qui SIffFRM Foeevg IR Jarn IRd fSa.

With reference to 8th August, 1942 in Indian history, which one of the following statements is
correct?

1) The Quit India Resolution was adopted by the AICC.

2) The Viceroy’s Executive Council was expanded to include more Indians.

3) The Congress ministries resigned in seven provinces.

4) Cripps proposed an Indian Union with full Dominion Status once the Second World War was

over.
............ T URRITG WU R Blel 3faler o HRudld. 3T,
q) Bfec e IiomT ?) fopesy wRetr@
3) IREE ST 3rgdred ) degel ST
Quit India Movement was launched in response to ............
1) Cabinet Mission Plan 2) Cripps Proposals
3) Simon Commission Report 4) Wavell plan

HRATT TR Fedid I Hedl ARG JaRTE 3Ted .......

q) IRT SISl ATQITT THEHER H P (ST Aeraur

R) AT Ml GRYQd FEHFl gl

3) YR JTEY TPRIAT e -ged PR

) UlSd STATEReATe A8 IrAT AJardlet! SARA HARBR AT IPRUITT Gl PHRUl

With reference to Indian freedom struggle, Usha Mehta is well-known for

1) Running the secret Congress Radio in the wake of Quit India Movement

2) Participating in the Second Round Table Conference

3) Leading a contingent of Indian National Army

4) Assisting in the formation of Interim Government under Pandit Jawaharlal Nehru
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9)
Q)
3)

)

1)

Q)

2)

€) N IDaBIIS Higeran TEHTT (9330-8)
9) WA ST gadet (9339—-8¢)

94) G SIRT MfOr AR, FATIRR MR ST Hh HERTE

R T (930§ -9]%80)

THTGUTT / TTei=gd a5 (9380 -8)

AR YR - S S HIhRor, Agwran ge-T
¥igeh HERTE o5

q) gfEAH SR (930€-938)

3) WIeUH /FG=IYE Pl (9380-80)
YRATT FTTAGTE HeHTd, Wietle! TeHTal AR Bleehd B 378 ?
37) Jfaat SfeET A deErt
) 9RA BIS! 3TQIeH T el
%) A s gReg
gt SR :
9) - D - 3 Q)A-F-D 3) P =9 -3 8) I -3 -P
With reference to Indian freedom struggle, what is the correct chronological sequence of the
following events ?
a) Mutiny in Royal Indian Navy
b) Quit India Movement launched
¢) Second Round Table Conference

Answer Options :
I)b-c-a 2)a-b-c 3)c-b-a 4)b-a-c

Q) WG fatgen o] vl

3) AR 37for arfeheamefiel SmReT ffeaa awor

8) 94 Sl STetidl diehelt dur

The Radcliffe Committee was appointed to ........

1) solve the problem of minorities in India.

2) give effect to the Independence Bill.

3) delimit the boundaries between India and Pakistan.
4) enquire into the riots in East Bengal.
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3)

3)

)

1)

Q)

2)

3)

YR 3figRITea Fewid, Wikl U™ I5d IS ... g,
9) T FidTiel S O fagT et

Q) 3T AeFiet T STfT IR i T+l AR det

3) wicly faumugR fase ot

8) HcAHS JEHUTe e FMYuoTe! QT SRPRT Hage]

With reference to Indian History, the Members of the Constituent Assembly from the Provinces

1) directly elected by the people of those Provinces

2) nominated by the Indian National Congress and the Muslim League

3) Selected by the Provincial Legislative Assemblies

4) Selected by he Government for their expertise in constitutional matters

3) WK YRA — AR AR, Hewdrean gedr
Q€ THART 9]40 IIoft HRATH HD! T R PRI gt ?
) TANBIATE! TSTRAID
R) AU FAheATE FSTID
3) AEHM YHARUE APATE TSRS
Q) Y Ao GRS ABATE TSR
What was the exact constitutional status of India on 26th January, 19507
1) A Democratic Republic
2) A Sovereign Democratic Republic

3) A Sovereign Secular Democratic Republic
4) A Sovereign Socialist Secular Democratic Republic

TRa T e, YRR sSiufuraraT @l foftelel ‘TemT S .. ORI ol 3.
9) PR IUST ?) TR ufvg
3) VT Sufeg 8) Hed IufIvg

The national motto of India, ‘Satyameva Jayate’ inscribed below the Emblem of India is taken

1) Katha Upanishad 2) Chandogya Upanishad
3) Aitareya Upanished 4) Mundaka Upanished
Gleflel g faaR e

37) ARATIA TepT AT ANDPATE! UG Fagd 3fetel Ufeel HRIFRT T& IRPR

9) ARANe depleld Fatd A0t 9, 'FHIRTe dd Mh $fedr’ I a9 95ed '¥C 9 31t geaT’
FROITT 3Te.

%) W3R IfSurd TERfewur el onfor iy age e

3) MaT Fads YRATT 97T STel.

Rl geATdT IRT PHIFPATAR Qe Icueh! PIUIT ?

PNI-h -8 -3 )F-T-37-5 3)H-F-d-8 )T -F - F — 3
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Consider the following events

a) The first democratically elected communist party government formed in a State in India
b) India’s then largest bank, ‘Imperial Bank of India’, was renamed ‘State Bank of India’.

¢) Air India was nationalized and became the national carrier.

d) Goa became a part of independent India.

Which of the following is the correct chronological sequence of the above events?
I)b-c-d-a 2)c-b-a-d 3)c-a-b-d 4)d-b-c-a

¥) AYh HERTY TbdS
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